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Y & 10 (M) U7 HA F0 |

wrerTiefe ot EEiTe € foh WoHll o ST o g STTHTT

B ¥ weiek faug o |3t 15 uyHi o 98| A ®ig

olteniell 10 WeA § 33Tk WEHl 1 ST <O € A THh g
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TeE WY 4 3% T T W I %k faw wdemed
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T U W faew e i 6 39 99 W e e

% feru sharet et/ il it uige U 1 941 L)
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JTUTT - A ( Hifeent )

U U YA Hag ¥ S $9E 9 Nmn s ¥ 5.
Tafiera Semd R gaent ifast el geent Teafast <t =t
T A1 S ¥ | T &0 H ] YA HAg W HE a7
FU I A Bl S

S 4/3gS
O U
S [3gS
@ 4’y 2
S 3gsS
3) 4’ 2
S .f3eS
& T

fo@m T sHg FEE & WEE § 5 TR S GR
yarfed Bidl &1 TS & WHNR UF e
105 Hi./8. & =1t § 7Ifq ¥ E | TH &0 W A
T =k < Se oI §J 20 HoH. §1 39 50w
$EEH g SYE TR STH ot oI o Ui i
IO T |

Electron v=10% m/s

e

20 ¢cm

|,

P 5A Q
(1) 4wx10~20=geq
2) 8x10- 20T
(3) 4x10~20=g
@  8wx10~20=gEq

ek GRS S U a1 & oA I A9 & T v
o sman &, @ Tr=fefiEs aroTes e €

A T & wreie = 0 fhefiHies

FE YA o UeiE = 52 |

T e & Tor Ty Yme w1 faefivies, g Yam
% 100 @ & Wd g ¥ SugE few e Gl &

T o1 =1 &

() 0.26 9.4
(2)  0.052 9.HI.
(3) 0.529H.
()  0.026 9.

Iig I [F], TR [A] 991 999 [T] # &7 ©ifas
Uiyl | foran e, 9 = 1 fomn 31a S
O [FI[A][T-!]

@ [F1[AM[T]

3)  [F][A][T]
@  [F1[AIIT?]

Hindi+English

Section - A (Physics)

A particle is released from height S from the
surface of the Earth. At a certain height its kinetic
energy 1s three times its potential energy. The
height from the surface of earth and the speed of
the particle at that instant are respectively :

S +/3gS
)

2 2

S5 [3g8
@ T

S 3gS
3) 4" 2

S 4/3gS
O %

An infinitely long straight conductor carries a
current of 5 A as shown. An electron is moving
with a speed of 10% m/s parallel to the conductor.
The perpendicular distance between the electron
and the conductor is 20 em at an instant.
Calculate the magnitude of the force experienced
by the electron at that instant.

Electron v=10% m/s

o

20 em

L,
P 5A Q
() 4wx10-20N
() 8x10720N
(3) 4x10720N
(4 8wx10~20N

A screw gauge gives the following readings when
used to measure the diameter of a wire

Main gcale reading : 0 mm

Circular scale reading : 52 divisions

Given that 1 mm on main scale corresponds to
100 divisions on the circular scale. The diameter
of the wire from the above datais:

(1) 0.26cm
(2) 0.052 cm
(3) 0.562cm
4) 0.026cm

If force [F], acceleration [A] and time [T] are
chosen as the fundamental physical quantities,
Find the dimensions of energy.

1)  [F][A][T1]

@ [F][AT1][T]

(3  [FI[AIIT]

@ [FI[A][T?]

sh

T

collegedunia:s

India’s largest Student Review Platform



Hindi+English

3.

T J5d Hihd gl T4 F&d 51 61 o g *

stfirgvae o fou srafas Sua Sm 8, T

(1) T Jad GRF T[0T 997 9T % foae arem
FATE |

2) T I A 1 ATEIS SUgE Tl TR
SO =1 I 2l £ |

(3) T J50 g Sud fa¥eT TeH FL & |

@ SdFad gt

T ST Bt o TehMSl PUTR! T8 W N TR Al
U TaRasia T aiad ot §1 A 9oe 9
IS ‘m’ ZoHM & BRSATEH i S-ardl aiesd
M E‘T, qar:

(2
® h{i—f}hdz
(4) hd{%}tg

R, T R, 5201 < < STeif¥r Tieiia =retes T dR 9
Sirg fRU I B 1 Tl & T8 STEE S (0y/op)
STIUIT B @

R
o &)
By
® g2
R
® T,
R
@ E
fesToR U foya fovpa &= o T 9 81 5% T
feen 4 wifq wom 2
o
T e
. +q—q

-

-
() = T il el Teafast s st |
@ T TWE ik SR st Sl ae |
@) i o i et feafast St st
@) T TE i sae feafas et s |

3

02

A lens of large focal length and large aperture is

best suited as an objective of an astronomical

telescope since :

(1)  alarge aperture contributes to the quality
and visibility of the images.

(2)  alarge area of the objective ensures better
light gathering power.

(3)  alarge aperture provides a better resclution.

(4)  all of the above.

An electromagnetic wave of wavelength A’ is
incident on a photosensitive surface of negligible
work function. If ‘m’ mass is of photoelectron
emitted from the surface has de-Broglie wavelength
Ay, then :

(2meY, o
A= —— |A
(1) T ]d
(2h Y. »
A= — A
(2) kmc] d
{ 2m P
= — g~
® khc) d

2
o

Two charged spherical conductors of radius R, and
R, are connected by a wire. Then the ratio of
surface charge densities of the spheres (¢,/05) 1s :

® R,

4) R,

A dipole is placed in an electric field as shown. In
which direction will 1t move ?

P 4
& >R
*q —4
A
(1)  towards the left as its potential energy will
decrease.
(2)  towardsthe right as its potential energy will
Increase.
(3) towards the left as its potential energy will
mncrease.
(4)  towards the right as its potential energy will
decrease,

sh

T
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10.

11.

12,

13.

TFATT 600 AAMHIRE TUTes arel TereT 9§ 3igas wfd
UeHUg TSI RIEH! il G el 519 98 3.3 X 103
o1 vIfer Scafsld &L §
(h=6.6x 10~ 34T x 9.)

(1)
2)
(3)

1[}16
1015
1013

(4 1017

U T ‘n’ I ¥ W A N FA L g
fegfas o1 =t T ©

(1)
(2)
(3)
4)

3n
4n
n

2n

Tl Tae W TAEA o v B THE SHH YA a4
7ot & ol % AR T PR TR SR IEF Tae 9
AT 7 Bl

1)
@)
3)
(@)

3 v
4 v

U
2u

e 9 W ¢ e § 90°C 9 80°C 9ok 321 Bl €,
€ HHL Y 20°C B | SH HHY % 919 T GHF T
F Y H FH H 80°C H 60°C TF ST HE H GAT
& BT

(1)

(2)

(3)

@)

10,
13
5,
13
13,
10
13,
5]

U & % rffew d gl W w20 YA wHd gl
T ST T A’ U1 5 HHI. BiHE U F e
o B @ ¥ AfE A’ W SATITa SHRR TR I,
B ¥ o Wt TR T @ R, A
.t o e

1)
)
3)

50
30
25

(4 16

4

10.

11.

12,

13.

Hindi+English

The number of photons per second on an average
emitted by the source of monochromatic light of
wavelength 600 nm, when it delivers the power of
3.3%x 10 3 watt willbe : (h=6.6 x 1034 Jg)

() 1016
2 1015
(3) 1018
4 1017

A body is executing simple harmonic motion with
frequency ‘n’, the frequency of its potential energy
18 !

1) 3n
(2) 4n
3 n

4) 2n

The escape velocity from the Earth’s surface is v,
The escape velocity from the surface of another
planet having a radius, four times that of Earth
and same mass density 18 ;

(1) 3v
(2) 4y
@)

(4) 2 v

A cup of coffee cools from 90°C to 80°C in t minutes,
when the room temperature is 20°C. The time
taken by a similar cup of coffee to cool from 80°C

to 60°C at a room temperature same at 20°C is :

o ot
® ot
® ot
@ o

A convex lens ‘A’ of focal length 20 em and a concave
lens ‘B’ of focal length 5 ecm are kept along the
same axis with a distance ‘d’ between them. If a
parallel beam of light falling on ‘A’ leaves ‘B as a
parallel beam, then the distance ‘d’ in cm will be :

1 50
2 30
@ 25
@ 15

sh

T
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14,

15,

16.

17,

TN - [ % T - 11 ¥ g Sy a9 9= e
T foeredl & W& gafad 1 s :
T -1 W - 11
@) | F s W ®) %nmﬁg
1 A1eT o 9
B sttmmmemtnT @
© S H S I ®) %RT
O 1iaETmETEE %kBT

e ST ool

L A)- @, B)-®),©C)-S), D) -R)
@  A)-R),B)-@, ©C)-®), D-E)
3  (A-E®), B)-EP),(C)-B), D)@
@ A)-@,B)-R),(C)-(), D)-(F)

() Sufgya st Shaer a8t W R §, 59 e
&7 AUl B

@ o worh faggg foya sl 2 g1

@ T fgya el v g B

4 < fag &= & Sufeem # & fgya el yra
F €, STETI % fawe & R

w Wediafss s Sx %om: faufed @ @

‘%}{ —7 B=y 3C—y oD %A § <&l Z 74
X 1 T = %1 %A § faufon am@ w g
ShHRT: :

L BT a BT

@ B, e BT
3 o p7, BT
@ o BB

T faweEmd o9y | 1.5 9ice J.a19. &1 wF 99
36 .. R F TR W wyfaa fawg o ¥ =fe
2.5 arce T ans. sl gl Het ggelt St o yiaeenfua
Fr g, o R % e o= W agfen g ama
T ?

(1) 64 9.HL
(2) 62 WML
(3) 609.H.
@) 21.6¥4

5

14,

15,

16.

17,

02
Match Column - I and Column - IT and choose
the correct match from the given choices,

Colunmn -1 Column -11

1 ol
(A)  Root mean square (P) gnm u2
speed of gas molecules
3RT
(B)  Pressure exerted (A)) ™
by 1deal gas
(C) Average kineticenergy (R) %RT
of a molecule
(D) Totalinternal energy  (S) % kgT

of 1 mole of a
diatomic gas

B @-@,B)-(F),C)-5),D)-R)
@ @W-R).B)-@,©C-F),D)-G)
@ @W-®).B)-P).0O)-5),D0)-@Q
@ @W-@Q.B)-ER),OC-6),D)-P)

Polar molecules are the molecules :

(1)  acquire a dipole moment only when magnetic
field is absent.

(2)  having a permanent electric dipole moment.
(3)  having zero dipole moment,

(4)  acqure a dipole moment only in the presence
of electric field due to displacement of
charges.

A radioactive nucleus AZX undergoes spontaneous
decay in the sequence

»X 57 Bz 30—y 9D, where Z is the

atomic number of element X. The possible decay
particles in the sequence are :

O BT, BT
@ B p’
3 e« p, BT
OB A

In a potentiometer circuit a cell of EMF 1.5V gives
balance point at 36 cm length of wire, If another

cell of EMF 2.5 V replaces the first cell, then at
what length of the wire, the halance point occurs ?

(1) 64 cm

(2) 62 cm
(3) 60 cm
4 21.6cm

T
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18,

19,

20.

21.

foRmmER=n (t=0) ¥ T Sl i e Taa9ad 95
= IR o §| ¢ sRA t=n—1 Yt=n F =

Sn
Sn—l—l

welieh gr <ol T gl S B, T STIUE 2T S

2n+1
In—-1

(1)

on

(2)

(3) o

In—-1
2n+1

@)

frfafias e (A) 997 (B) R fa=Rr +ifqu =

e S = Faf=a s |

(A) UF SR TS 35RA AfAfa | @ 8, @
ferera o= <1 T8 WgFd g 2 |

p-n |4 T {9y 9ER 0.1 Fed q90
0.3 iee % 1= 2@ 2 |

(A) I € W (B) oM B
(A) 7T ¥ 9 (B) T ¥
(3 T (A) T (B) A
4) SR (A) 991 (B) 7o )
feu & wedem | goa uiian # ¢

C
|
|

(B)

(1)
@)

i

C/2
3C/2
3C
2C

(1)
(2)
(3)
4)
n—25Y STHEAFH H S i Figdl a1 8t & e
p-2T39 ATTH T Hied & F|Ed &1 TH1 W R
Tergga & <o S g1 SN A ARSI &
T ST |

(1) n-°RYH YA >p-TRUYH YT H

2) p-°BY H HIT YR yaEd T aoN, See
n-<139 § Y1 waied 2o

n-TEYH Y =p-TEY H 17

p-3EU Y U > n-IEYH 90 H

(3)
4)

6

18,

15

20.

21.

Hindi+English

A small block slides down on a smooth inclined
plane, starting from rest at time t=0. Let S, be
the distance travelled by the block in the interval

S
t=n—1to t=n. Then, the ratio B s
Sn—l—l

2n+1

D on 1
2n

@ 9n-1

2n-1
3
(3) on

Zn—1
@ on1

Consider the following statements (A) and (B)
and identify the correct answer.

(A) A zener diode 18 connected 1n reverse bias,
when used as a voltage regulator.

(B) The potential harrier of p-n junction lies
between 0.1 Vtoc0.3V.

(1)  (A) is correct and (B) is incorrect.

(2)  (A) is incorrect but (B) 1s correct.

@)  (A) and (B) both are correct.

(4)  (A) and (B) both are incorrect.

The equivalent capacitance of the combination
shown in the figure 1s :

C
| |
[

— ——C —
| |
[
C

a o

@  3C°2

G 3C

@ 20

The electron concentration in an n-type
semiconductor 1s the same as hole concentration
in a p-type semiconductor. An external field
(electric) is applied across each of them. Compare
the currents in them.

(1) currentin n-type > current in p-type.

(2)  Nocurrent will flow in p-type, current will
only flow in n-type.

(3)  currentin n-type =current in p-type.

(4)  currentin p-type >currentin n-type.
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22,

23,

24,

ﬁmnﬁmaﬁshmehﬂV=vﬂ sinwt § ‘C €T
1 T 1 5= ¥
oI & wi2l o == faeee o 2

Vo .
Igj=—= t
(]_) d mC S11140

0
I —_ t'
(4) 4= C QO

T ‘R 5 i A awE wfew 7§ uR T seh
ST FIE W U9 U 4 fomaita ¥ 1 e & wrm

TR 8 B(r) 1 9iadT Ffae 3w d v g
ey vefsta formm s % ¢

w B| / 3

@ B Bl

3 B |

@ B q

r ?

T 9T 10 =27 & a1 9 5 9. T= St g1 5=
2 T, SoaUM =1 399 S W[ €, ° SeT &
STTEIRTET BT ¢

(1) 3.145%78
@)  0.628 UHUS
3 0.0628 TS
4) 6.28UFHUT

7

22,

23.

24,

02

A capacitor of capacitance ‘C’, is connected across
an ac source of voltage V, given by
V=V, sinwt
The displacement current between the plates of
the capacitor, would then be given by ;

Vo

[y=—sinwt
1) = S

2 Ij=V,elsinwt
@)  I3=Vyelcosut
Vo

I3=—2 coswt
(4) d " COB

A thick current carrying cable of radius ‘R’ carries
current ‘I’ uniformly distributed across its
cross-section. The variation of magnetic field B(x)
due to the cable with the distance 'r’ from the axis
of the cable is represented by :

1 B
I-—I-

I

2 B
r—h-

1

3 B
I«-——b

l

4 B
r—b

A gpring is stretched by 5 cm by a force 10 N. The
time period of the ogcillations when a mass of 2 kg
1g sugpended by it 1s;

1) 3.14s
2)  0.628s
3  0.0628s
4 6.28s
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25,

26.

27,

28.

T FHFR ™iE 91 F Wd & &9h TS
foaregd 8B 1 AR W ¥ o g QA e
™T H ATRA ‘A’ B Al i § uERbE =i
2 1 (g, =Traira =t Torgasiteran

(1) %EDEEAd

. E2Ad
(2) £

1
® 3 eﬂE2
@  e,EAd

M Z2M A d ¥ ol Bl Tig 6 3 fiawda 9 «)
i § e W FP 99 9% SRR ¥ Wi g1 A
e =1 = % B, i g W & 9rell I 899
R :

1V SMe

@ 2Mg
M

® 5

@ Mg

x-Tegn # Hela T wAaer faga g ol & fog
Frfafaa waem | § A o w9 Ty &9 8) 9o
TR &7 (B) F T T fumel e war g ?

W 5eb, b
@ G4k, —j+h

3) ?+£ ?+£

@ G4k, —j—k

T - [ e e et 90 9 T $39
ifereh 928 =90 F & | T — IT T TR T
o forpm aivml wfinfa 3t & = =@ =@ T
T - I ol Tes] - 11 ¥ e o g gaierd i ;

Ty -1 T - 11
m
(&) ST AT ®
® Toerdm wfatema @ neuy
C) oid F ®R) %‘T
E
D) YR &) 3J

1) @-R), B)-F), (C)-(5), D)-(Q)
@  W-®),B)-Q), C)-6), D)-F)
B  W)-®),B)-6), O)-F), D)-Q)
@  @W)-®),B-6), O-Q),D)-PF)

8

25.

26.

27.

28.
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A parallel plate capacitor has a uniform electric

—

field ‘E’ in the space between the plates. If the
distance between the plates is ‘d’ and the area of
each plate 1z ‘A’, the energy stored 1n the capacitor
18 : (€, = permittivity of free space)

D

)

@)
4)

1 2
—enH=Ad
20

E?Ad
o
1
20
sﬂEAd

E2

The velocity of a small ball of mass M and density
d, when dropped in a container filled with glycerine
becomes constant after some time, If the density

.. d ; ;
of glycerine is —, then the viscous force acting on

the ball will be :
3

1) 5 Mg

2) 2Mg
Mg

®

4 Mg

For a plane electromagnetic wave propagating in
x-direction, which one of the following combination
gives the correct possible directions for electric
field (E) and magnetic field (B) respectively ?

(1)
2)
3)
4)

M M
j+k,_j'_k
M HoM
—jtk, —j+E
Fa T . . U A ¥
J+Ek, j+k
FAY FAY M

—j+k, —j—k

Column -1 gives certain physical terms associated
with flow of current through a metallic conductor.
Column - Il gives some mathematical relations

involving electrical gquantities.

Match

Column - I and Column - II with appropriate
relations.

@A)
®)

©

D)

(1)
)
3)
4)

Column -1

Drift Velocity )

Electrical Resistivity Q)
Relaxation Period (R)
Current Density (S)

A)-E&), (B)-(P), (C)-(5), (D)-(Q)
A)-R), (B)-(Q), (O)-(5), D)-(P)
(A)-R), B)-(3), (C)-(P), (IN-(Q)
A)»-®), B)-(5), (O)-(Q), )-(P)

sh

T
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29,

30.

31

32.

far T fo3 F o OR TF L Wad & T, TF
C oiar &1 9T 99 UF R’ Ay &1 gieiees
V A favarR & Taad S 9 i Fad F2 2

L, C, R T Ta9a= FA: 40 9152, 10 diee a0
40 =tee ¥1 LCR 9wl ufiyyg & warfed am

1042 ufeR &1 uftay = wiqemn €
WA —

«— 4 V—+— 10 V—— 40 V—

()
L
\Y
(1) 43H
2 53M
3 423
@ 52

ww fedmfra gFemEe ®1 ddenyg 100 = ¥
150 == 3 917G YRIFF Hiswaar s == geir fHeichsh
T BT

2
(1) 3

2
2 372
3 12

1
(4) PN

UM T, THM ST HE ¥ S aul 9
EY & WHR A H S 9R Rl w1 ged gy
0.25 3T &1 =fE Tr gt w1 o Sire fen s, &
Tl weRier = B ?

(1) 1M

@ 4T

(3 0.253M
(4 0.53™

AqiE E 91 G FHN: FHell adl EArRy0l i &l
mﬁhaﬂﬁ%‘,ﬁf%ﬁﬁmﬁﬂﬁ:

(L [M][LO][T°]

@ [MZL-2][T]
@  [MP[L7[T9
@  [M]I[L-T[T]

9
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An inductor of inductance L, a capacitor of
capacitance C and a resistor of resistance ‘R’ are
connected in series to an ac source of potential
difference 'V’ volts as shown in figure.

Potential difference across L, C and R is 40 V,
10 V and 40 V, respectively. The amplitude of
current flowing through LCR series circuit is

102 A. The impedance of the circuit is ;

WAAM—

— AN V—>+— 10 V—>+—40V—

()
N
s
1 40
@ 50
@ 4420
@ 520

The half-life of a radicactive nuclide is 100 hours,
The fraction of original activity that will remain
after 150 hours would he ;

2
1) 3

2
2) 372
3 12

1
@ 272

The effective resistance of a parallel connection that
consists of four wires of equal length, equal area of
cross-gection and same material ig 0.25 (3. What
will be the effective resistance if they are connected
In series ?

O 10
@ 40

G 0250
@ 050

If E and G respectively denote energy and
gravitational constant, then E has the dimensions
of :

1) [M][LO] [T]

2 [M2][L2][T 1]

@ [M2][L-1][T0]

@ [M]L[T ]
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34,

36,

36,

U 23ERT Fi 9 & O 15 fFmAa, i | 9
60 HI. s § ur fiear &1 =nfor F R gRisTE
Frarefi Zstt & 10 wfaera =1 1fT S0 81 <@ F W
feraT wifsRT Seq=1 =61 Sl 82

(g=10H1./4.2)

1 12.3TwemER

(2) 7.0 e

(3) 10.2 fFemEe

(4) 8.1 TFFeEr

fosm 4 foiq =W F 09 = I FSQ HF H
ST 3 B

m 60°

(1)
(2)

45°

9P

3 o0

@ 30

TS 240 TSHAE 981 & ATV, T TS0 S8
120 % <1 Wl d Tea ¥\ @i a9 @ied
FifywT w1 s e gfa gfears wam
7.6 HEEa2A aee (MeV) T91 8.5 HIEGFE d0e
(MeV) ¥ 1 WorH H el W S Sl Bl 8

(1) 804 TR e

(2) 216 WA Ae

(3) 0.9 HBERM AIee

@ 9.4 HMFAR Al

ST - B ( oiferet )

ek 200 H.H, TS T4 500 WTH FSHAH Sl GHM B
TF A9 F 40 VAL W R Hglew it ¥
2 To6. 7. 1 EeaHF B2 9 20 QAL R Frafa feen
STl § q9T THT AW §9E ‘m’ BT 9 160 WAL
Frem & freriaa Toran San @1 9@ TS m’ 1 A
S8 g W 7ae H | (g=10 HL./4.2)

0 20cm 40 cm 160 em
2
2 kg m
(L) % .
1
(2) 5 &,
1
(3) 9 L

10

33.

34.

35.

36.

Hindi+English

Water falls from a height of 60 m at the rate of
15 kg/s to operate a turbine. The losses due to
frictional force are 10% of the input energy. How
much power is generated by the turbine ?

(g =10 m/s?)
1) 12.3kW
@  TOkW
(3) 10.2 kW
@) 81kW

Find the value of the angle of emergence from the
prism. Refractive index of the glass is V3.

N 60°
1 45°
@ 9
(@) 60
@  30°

A nucleus with mass number 240 breaks into two
fragments each of mass number 120, the binding
energy per nucleon of unfragmented nuclei is

7.6 MeV while that of fragments 1s 8.5 MeV. The
total gain in the Binding Energy in the processis

1)  804MeV
@ 216 MeV
G  0.9MeV
@  9.4MeV

Section - B (Physics)

A uniform rod of length 200 cm and mass 500 g is
balanced on a wedge placed at 40 cm mark. A
mass of 2 kg is suspended from the rod at 20 cm
and another unknown mass ‘m’ is suspended from
the rod at 160 cm mark as shown in the figure,
Find the value of ‘m’ such that the rod is in
equilibrium. (g= 10 m/s?)

0 20cm 40 cm 160 cm
A
2 kg m
1) % kg
1
@ 135 kg
3) % kg
@ ke
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37.

38.

m@m#mrl,%ﬁ?ﬂrgmﬁaﬁﬁ?
yiRiee i T 8| uRag § g afaded & wei |

I %Waﬂmﬁ%:

I
D 4

& T uftay o, fret fesies fomma fadi A, B @
C W g fmd s €1 fat y R fie famrma =
g 7

A
0

C
O
bty tg t3 ty t5 g

o | Ly
—5V
() — 0V
(3) 5V
— BV
i oV

11

37.

38.

02

Three resistors having resistances ry, ¥y and ry

are connected as shown in the given circuit. The

. I3 . .

ratio = of currents in terms of resistances used
1

in the circuit is ;

(1) ] I‘l‘]'_rz
(2) 1] 1:51‘3
(3) rs 13' rg
(4) rs I:f rg

For the given circuit, the input digital signals are
applied at the terminals A, B and C. What would
be the output at the terminal y ?

!
A
fo— ; ! ) —
5
B : o
° ] —
C 5 .
0 1
A
-
- ) >
O—
¥
)
o D—
y tl tE t3 t4 t5 tﬁ
S N A
——5V
i oV
3) 5V
] 5V
@ —0V
e collegedunia:
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39,

40,

41.

TUTehthel
O i W]

— P M M
=quX|Bi+Bj+Byk

il st

3 - A
H, q=19T v =2;+4j+6k

—r M S

P4
F=4{-20j+12k % 98
B 1 Hegul =T 1 Eh ?

Pt M M

D 8;+8j—6k

M M M

@  6i+6j—8k

e ra it

(3 _8;-8j-6k

A Fal A

@  _6i-6;-8k

e STU=l ST S 220 Siee H&d Yol gid |
T E, 11 9, 44 91 AW T T FRATE | ZREEER
H i g1 1 0 A gU, IRt 9iiey # 9
1 Bt 8 7

(1) 20°fFRR
@ 4TER
@) 02T
4  0.4TFEY

‘M T a4 ‘R T & & 9 3o | 90°
A o 9 T A (3Th) g fen s 81 s=i g0
T o T ] TSl S0 Beed o ohg o [ ATl
AU Boxd & ql F T ST o HUH ‘MR H K’
T ‘KHRAFE :

(1)

(2)

3)

W[~ W W[ |

(@)

12

39.
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In the product

F=qloxB)

o A A A
=qux\Bi+Bj+Bgk
- A A A
i

2t+4j+6k and

— M M A

F=4:;-20;+12%

Forq=1and

._}
What will be the complete expression for B ?

st it M

1 gi+8j-6k
2) 6?+6?—3§
@  _gi-8j-6k
@  _gi-6;-8%

A step down transformer connected to an ac mains
supply of 220 V 1s made to operate at 11V, 44 W
lamp. Ignoring power losses in the transformer,
what 1s the current in the primary circuit ?

1) 24
@ 4A

G 0.2A
@ 04A

From a circular ring of mass ‘M’ and radius ‘R’ an
arc corresponding to a 90° sector isremoved. The
moment of inertia of the remaining part of the ring
about an axis passing through the centre of the
ring and perpendicular to the plane of the ring is
‘K’ times ‘MR?%. Then the value of ‘K is

o
1
2 3
3
(3) 1
7
4 3
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42,

43.

44,

45.

T %0 R 551 % 99 O 99F 9t 9 0 340 g0
THR QU FA H T 999 a1 ¢ |

afe 7=t o Sfas 9 9 T | 0 e W geiig
o ST, 97 4R % SRR STTeRay S I FE S |
TEqUT I ‘g7 femm o ¥

1
(1) O=sin”" "T"B—E]A
. 8T
. 1
(2) ﬁ:giﬂ‘l ﬂ A
k'rrzR
( m2 }é
(8) 0=cos ! ET—
k*1T2R
1
(4 O=cos | —'“EE 2
gT

T TS 1 27 Fa ToF 220 e W ARG B
g1 3 oo T 9t 9 At ¥ 1 99 9§ % fae

=] IO RIS |

(L) 15209
(2) 1980w
(8) 6609w
@ 13209

T& ‘m’ TSHAM &1 HU e 9a8 § |HHE 97
v=kV_(k < 1) ¥ 9&ftq faHan sma 2

(V' =TeTTa =) .
F1 ¥ BRI HaE & HUL YT SITe=RaH e §
R2k
M 1+k
Rk?
@ e
v k N2
3 Bl ——
(3) =
’ 32
(4) E i
k“1-[-]{/;

T FR foRameeen § U el £ 991 65 9.2 9§

WA B &1 t=4 TFHI8 WHR § 8 A g0 TH
Tig Tass! + e FREh St 81 t=6 ¥ve Wi
I AT A R0 R e 2 (R E: g=10 /A2

Q 2024, 0

2 2042 /A, 10 TLA2
(8 204, 5 HLA2

4 20TLA, 0

13
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45,

02

A particle moving in a circle of radius R with a
uniform speed takes a time T to complete one
revolution.

If this particle were projected with the same speed
at an angle ‘0’ to the horizontal, the maximum
height attained by it equals 4R. The angle of
projection, 8, is then given by :

(1) e
2) 0=sgin"" 2gT2 }é
R
2 \V%
= 5 i
(3) cos [ e 1
YA
(4) 0 =cog | [%}
gT

Twenty seven drops of same size are charged at
220V each. They combine to form a bigger drop.
Calculate the potential of the higger drop.

1) 1520V
(2) 1980V
(3) 660V

4 1320V

A particle of mass ‘m’ is projected with a velocity
v=KkV, (k< 1) from the surface of the earth.
(V,=escape velocity)

The maximum height above the surface reached
by the particle 1s :

R%k
(1) 1+k
RKkZ
@ 2
( k ~2
@ R|—
kl_k)
¢ k \12
@ R|——
1+k )

A car starts from rest and accelerates at 5 m/s2.
At t=4 g, a ball is dropped out of a window by a
person sitting in the car. What is the velocity and
acceleration of the ballatt=6g?

(Take g =10 m/g?)

(1) 2042 m/s, 0

(2) 2042 m/s, 10 m/s?
(3) 20 m/s, 5 m/g?

4) 20 mfs, 0
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47.

48.

49,

R, 1 R, T3t =1 1 =etehi™ gaiid o9 U aot |
THHZd T 1A R, > > R, 1 S Hel Ui
T M IHHI S R

2
(1) i
2)
(3)

4

T 4t LCR uftay & 5.0 T8 1 UTH, 80 WS
TS T O Tl 40 37 1 FRRYE 230 S F
ufeia e % yeredl Bh W g9 ¥ SR
FIU ST W v F e wifd TaiE w e
ot E FT R AT aem

(1) 46 e/, 54 /4.
@  42em/4., 58 Wezq/4.
@) 25 de=/4., 75 Weaw/4,
@  50eT/]., 25 Team/4.

TF 12a T3 941 Iy ‘R’ 1 §9H =R TR,

@ ‘a’ YO % wHarg A a

() ‘a’ YSI & o0l & SHER I YRR FUSH §
Hrgr ST ¥ |

Ud FHUSH! ol Grahid fgya Teul e § ¢

(1) 3IaZ4qur41a®

(2) 41a2 a971 3 a2

(3)
)

T 0.15 TR =1 e 10 #Y. =R 9§ firedt st @
T STHI H TR THH SO 9F Soadi ¢ | g |
AMA TR AT KT 9T BT R, ANET
(g=10T./4.2)

Q 21w«
2) 1.4 B xH./4.
(8) OTfHEIm <t /3.

@) 4.2 FFIM xHL/4.

J31a2 a1 3 [a2
3 1a2 991 [a2

14
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Two conducting circular loops of radii R; and R,
are placed in the same plane with their centres
coinciding. If R;>>R,, the mutual inductance M
between them will be directly proportional to ;

D

)

(3)

@

A series LCR circuit containing 5.0 H inductor,
80 wF capacitor and 40 {2 resistor 1s connected o
230V variable frequency ac source. The angular
frequencies of the source at which power
transferred to the circuit is half the power at the
resonant angular frequency are likely to be :

(1) 46rad/s and 54 rad/s
(2) 42rad/s and 58 rad/s
(3) 25 rad/s and 75 rad/s
(4)  HO0rad/s and 25 rad/s

A uniform conducting wire of length 12a and
resistance ‘R’ is wound up as a current carrying
coil in the shape of,

@
(ii)

The magnetic dipole moments of the coil in each
case respectively are :

an equilateral triangle of side ‘a’.

a square of side ‘a’.

(1) 3IlaZand4]la2
(2) 4Ia%and 3Ia2
(3) /3Ia%and 31a?
(4) 3laZandIa®

A ball of mass 0.15 kg is dropped from a height
10 m, strikes the ground and rebounds to the same
height. The magnitude of impulge imparted to
the ball ig (g = 10 m/s?) nearly

Q) 2.1kegmfs
(2) l4kgm/s
3) Okgmfs

) 4.2 ke m/s
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91,
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94,

30 9.9 PEA T4 & A a9 ¥ 60 L. T W
e forg oy Sufem B1 9k o woaa <dw, 4=
Y % T AU THH 40 A FH W @ SAE, @
a1t wfafers ran <smm <5

A

+—G0 cm—»—40 crm—

() 30 AW THIS YU [, TE N gfafa
B |

20 W, TS UM W, T§ SMVE yfdfee
B |

20 B4, OV 9§, 9% e iatens rm |
30 .. T 9, 9 Aafass yfafar S|

ST - A ( THEAIE )
ﬁ%ﬁwﬁqm%:
991 :
e v Sfaemid @mes derrl (TS
Toesifar) i % €|
HATII :

AR Ue §US FEYF: TRl (-2
TesiTaw) o & |
U w1 o WIS | A= feu gu fawedi | 9 wet

SONNNN NN

2)

3)
@

S |

1) w71 98 T AT e I o 2
2 YA o € Al e I |E §
3) o YTl vE w11 9E |

@) SN ®eT I U T I o B

Zr (Z=40) U6 Hf (Z=72) & WHIvesH Ug af-sh
ot Tm ¥ 39 FRm R

(L) RS S

@ T o TEEE O 99E §
@ = HE 8 % 9eE §

@ T Ty

O-X §Y FI 99 Tl 1 T HH T

() CHy—F <CH,—Cl> CHy;—Br> CH,y—1
@ CHy—Cl>CHy—F>CHy—Br> CHy—1
(3 CHy—F<CH,y—Cl<CHy;—Br<CH,-1I
(4 CHy—F>CH,y—Cl>CHy—Br> CHy—1

T ERUHeEiERE (EDTA) 39 §

(L) BN S e % Y SRR e

@ TN g AT % iy e e

(3 IR0’ TE g N ST WA % WY vl
fere

@ TEER e

15
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A point object is placed at a distance of 60 cm from
a convex lens of focal length 30 cm, If a plane
mirror were put perpendicular to the principal axis
of the lens and at a distance of 40 cm from it, the
final image would be formed at a distance of :

A

«——g0 cm—»— 40 cm—>

MNNNNNNN

(1) 30 cm from the plane mirror, it would be a
virtual image.

(2) 20 cm from the plane mirror, it would be a
virtual image.

(3) 20 cm from the lens, it would be a real
image,

(4) 30 cm from the lens, it would be a real
image,

Section - A (Chemistry)

(Given below are two statements :

Statement I :
Aspirin and Paracetamol belong to the class of
narcotic analgesics.

Statement I1 :
Morphine and Heroin are non-narcotic analgesics.
In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement I i1s correct but Statement I1
is false.

(2) Statement I is i1ncorrect but
Statement II is true.

(3) Both Statement I and Statement II are
true.

(4) Both Statement I and Statement II are
false.

Zr (Z=40) and Hf (Z = 72) have similar atomic and
ionic radii because of

(1) lanthanoid contraction

(2)  having similar chemical properties

(3)  belonging to same group

(4y  diagonal relationship

The correct sequence of bond enthalpy of ‘C—X"bond
18 :

() CH3—F<CH3-Cl>CHy—Br>CHy-1I
2) CH;—-Cl>CHg—F>CHy—Br>CHy-1I
(3) CHy—F<CH;-Cl<CHy—Br<CHy-1I
(49 CHy—F>CH;-Cl>CHy—Br>CHy-1I

Ethylene diaminetetraacetate (EDTA) lonis :

(1)  Bidentate higand with two “IN” donor atoms

(2) Tndentate higand with three “N” donor atoms

(3) Hexadentate ligand with four “O” and two
*IN” donor atoms

(4) Umdentate ligand
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BF, T WO T8 Soiagid =57 AT 8| Fai
TIHTY] 1 G0 TG 39k ARl SR SeIa2 | ol Gl
%, ShHI: :

(1) sp2TWd6
2 sp?UES
3 spiTE4
4 spiTES6

aifer gfean e, 78 feoell 1w ©¥M 1,368 kHz
(frett T&51) =it 3Tgfe W YORY <ar 1 HeRE
(ZiwHeR) R seafsia foga geerE fafem =
aoreed ¥ o [9E9 1 9, c=3.0 X 108 ms 1]

1) 2192m
@ 21.92cm
3 219.3m
4 219.2m
Geit-1 1 e geit-11 9 & |
-1 TEr-11
(@) PCly @ o faufirE
) SFg @) Freig gaads
(¢  BrFg (i) STEEEHT
d BF, Gv) i fgfuafas
1 fou T fasredl 5 O @ ST |
0 (@), ©)-G), ©)-v), ([d-{)
@  (@-v), (b)-(id), (0)-(), (d)-1)
(3 (@)-0v), (b)-(iid), (c)-(), (d)-G1)
4)  (a)-(), (b)-Q11), (0)-(v), (d)-()
T % Freram el Heuw H fgga s g
1 e
2
@  120°
@  180°

=1 srfufirensti § @ =5 g fasamm sifufen €2
gt foreg = |

(1) Fe+2HCl— FeCl,+H,T

@  2Pb(NO),—> 2PbO +4NO, + 0,1
3  2KCI0,—>— 2KCl+30,

4  Cry04+2A1—2 5 AL O, +2Cr

55,

56.

57.

58.

59.

Hindi+English

BF, is planar and electron deficient compound.
Hybridization and number of electrons around the
central atom, respectively are ;

(1) sp2andé
(2) sp2and8
(3) sp3and4
(4) sp?andé6

A particular station of All India Radio, New Delhi,
broadeasts on a frequency of 1,368 kHz (lalohertz).
The wavelength of the electromagnetic radiation
emitted by the transmitter is : [speed of light,
c=3.0x108ms—1]

(1) 2192m
(2) 21.92 cm
3 2193m
4 2192m
Match List - I with List - IT.
List -1 List -1I
@ PCl (1) Square pyramidal
{(b) SFg (1)  Trigonal planar
(c) BrFy () Octahedral
d) BF, (iv) Trigonal bipyramidal

Choose the correct answer from the options given
below.

1) (@-(d), (b)-(), (©)-(v), (d)-Gi)
@) (@-Gv), (b)-Gid), (¢)-(d), {d)-()
@) (@-v), (b)-(11), (c)-Q), (d)-(D)
@) (@), (b)-(iD), ()-(v), (d)-0)

Dihedral angle of least stable conformer of ethane
18 !

QO 6
2
@ 120°
@  180°

Which of the following reactions is the metal
displacement reaction 7 Choose the right option.

(1) Fe+2HCl— FeCl,+H,T

@  2Pb(NO,,— 2PbO+4NO,+0,T
@  2KCI0,—2— 2KCl+30,

@  CryOu+2A1—5— AL,O, +2Cr
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61,

62,

63.

64.

AT YRt S e A §
1  CHO

@ CH,0

@ CsHyy

@ CHGO

f= & & =9 W o ™ O aeel 1 % fa
Cp Wd Cyy T TRl Hel¥l ol = FIA1 ¢ 7

() Cp=RCy
@ Cy=RCp
3 Cp+Cy=R
@ Cp—-Cy=R

e sigerehl A § $F AT IgereT & g FfHa
ot T % 2

1) e
2 S

3  THAA

(4)  TAA-66

“fomem wiE = & g velsla fren s 217 ad
Tererea <+ |

1) == e
(2 e e
(3) NaClTaemE
@ T faee

T 14 TR o I SRl i A0 Shirad U ShilaHS

I e & fou wd w7
O 2
@ 3
@ 7
@ 5
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02
The compound which shows metamerism is ;
(1) CyHgO
2 C4H,,O
3  CsHy,
4 CHgO

Which one among the following is the correct option
for right relationship between Cp and Gy for one
mole of ideal gas ?

1) Cp=RGCy
@ Cy=RCp
@ Cp+Cy=R
@ Cp-Cy=R

Which one of the following polymers is prepared
by addition polymerisation ?

(1) Novolac
(2) Dacron
(3) Teflon
(4) Nylon-66

The right option for the statement “Tyndall effect
18 exhibited by”, 1s :

(1) Starch solution
(2)  Ureasolution
(3)  NaCl solution
(4) Glucose solution

The correct option for the number of body centred
unit cells in all 14 types of Bravais lattice unit
cells is :

O
@ 3
@ 7
@ 5
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66,

67.

a1 o fa = 9w e g4 s fafie ari
T 1 T vs. 3TEAA ] TS R @ ;

—

;)%
%

4

1)

(bar)

Pressure (P)

Volume (V) —»
(dm3)

—

600
00
0

(bar)

(2)

Pressure (P)

Volume (V) —>»
(dm3)

—

200 i

3) 50
Q

(bar)

Pressure (P)

Volume (V) —»
(dm3)

—

(200 K, 400 K, 600 K)

4)

(bar)

Pressure (P)

Volume (V) —»

(dm3)
Seree T o T St TR sffsren SR wia safseerm
¥ U IS § | ST FrEfer 3G Y T I8 |
(1) Sop i A geer gikdw 9o 2 ¥
(2) SR IE % e afer Tl 9 5=
TCHE: B 2 |
Spe T weT | 16 e ¥
3 T 3 eI UE gAY 31 3= 8
g
= o o form fafy =1 s === srafas gs ag =
T TR E N TR FAIRIIE?
(1)  SEEA
(2) Hed UiEh
(3) To=qa s1aereA
(4) TGS

(3)
@)
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Choose the correct option for graphical representation
of Boyle’s law, which shows a graph of pressure vs,
volume of a gas at different temperatures ;

&
f Y,
b @Q %
3 &
-
1 g
(1) % ]
&
Volume (V) —
(dm?)
&
& w 600 i
(2 o 00
m "
v 0
¥
Volume (V) —>
(dm3)
&
&= 200 g
® =% 0
o 00
o
Volume (V) —
(dm?)
& |(200 K, 400 K, 600 K)
L~
@ £2
5
&

Volume (V) —
(dm?)

Noble gases are named because of their inertness
towards reactivity. Identify an incorrect
statement about them.

(1)  Noble gases have weak dispersion forces.

(2)  Noble gases have large positive values of
electron gain enthalpy.

(3)  Noble gases are sparingly soluble in water.

(4)  Noble gases have very high melting and

boiling points.

Which one of the following methods can be used to
chtain highly pure metal which is liquid at room
temperature ?

(1)  Distillation

(2)  Zonerefining

(3)  Electrolysis

(4)  Chromatography
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69,

70.

71

72,

TSI o Uk U SaTuf4ed Jued-, Irfead, 1=

T o Tore 0 7 S Ll & 2

(L)  TH(y)

@ (@)

@ H@=Eo)

4 SR (o)

e s g7 ug geesl § 9 S weddst e
AT TIeTeh O e & 2

O  HfEm s

@  faes FREs

(3) HicTEm FERES

G IR ELESINES)

T (K) R SRARAUHA % pK, T3 UHifew o7 &
pK, A FH: 3.27 TS 4.77 §1 TEATISATHAITAN
e oo % pH 1 |el foewey ¢

1) 775

@ 625

3 850

@ 550

NaCl, HC1 U8 CH,COONa &1 3Td d3d1 W Hier
HTAGRA I 126.45, 426.16 TF91.0 S em2 mol —1
T &4 391 W CH,COOH i Hiei =1eishdl & |

(1)

698.28 S emZ mol 1

(2) 540.48 S cm? mol ~1
(3)  201.28 S cm2 mol 1
@  390.71 Scm2mol 1}

e e sfafen 9 fafda st e
TUPAC =T9 341 % ?

trfior (i) CEEISTE?:,;@ R e
QO TA-3-30d

@  2-Tf =ge-2-3id

(3) - YieH-2- e

@) URA-2-3d

19

63.

69.

70.

71.

72,

02

Tritium, a radioactive isotope of hydrogen, emits
which of the following particles ?

(1) Gamma (vy)
(2)  Neutron (n)
(3) Beta(B)
(4  Alpha ()

Among the following alkaline earth metal halides,
one which is covalent and soluble in organic
solventsis :

(1) Magnesium chloride
(2)  Beryllium chloride
(3)  Calcium chloride

(4)  Strontium chloride

The pKj, of dimethylamine and pK, of acetic acid
are 3.27 and 4.77 respectively at T (K). The correct
option for the pH of dimethylammonium acetate
solution is ;

O 7.5
@) 825
(3) 850
@)  5.50

The molar conductance of NaCl, HCl and
CH45COONa at infinite dilution are 126.45, 426.16
and 91.0 8 cm? mol ~) respectively. The molar
conductance of CH,COOH at infinite dilution is.
Choose the right option for your answer.

(1) 69828 SemZmol—1
() 540.48 SemZmol 1
3 201.28SemZmol—!
(4) 390.71 S emZ mol 1

What is the [UPAC name of the organic compound
formed in the following chemical reaction ?

@) CoH:MgBr, dry Ether

Acetone — Product
(i) Hy,O, H*

(1)  pentan-3-ol

(2)  Z2-methyl butan-2-ol

(3)  2-methyl propan-2-ol

(4)  pentan-2-ol

sh
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73.

74,

=1 Tt sifafran @ g& s 2
CH;
CH - CH = CH,, + HBr (LeH:C0):05 <
CH,”
CH;
(1) CH-CH-CH;
CH, l
Br
CHj
@) _CBr—CH,;—CH;
CH,
CH;
CH,
CH,

4)

Tt srfufEan A—B & Tau stfufen =1 et
—4.2%J mol — 1 Ta GigFaw = W 9.6 kJ mol 1
T fafean & fau g8 feufas o= e =

“CH~-CHy~-CHy— 0~ COCgH;

CH,

ferereg H wefsta forem e €

(1)

2)

(3)

4)

f

!

!

AN

A B

——

= -
Reaction Progress

i

\
PE b
A

Reaction Progress

!

PE

i

PE

4

fy
/\El
A

. -
Reaction Progress

A

\
AN
B

. -
Reaction Progress

20

73.

74,

Hindi+English

The major product of the following chemical

BI‘ (CEHECO)EOE: ?

reactionis ;
CH, "
CH-CH=CH,;+H
CH3"
CH3\
(1) XCH —CH-CH,4
CHgq |
Br
CHS\
2) /CBr —CH,—-CHj4
CHS
CH3\
(3) CH-CH,—CH,—Br
o 2 2
CHgq
CHS\
(4 /CH —CH,-CH,;-0-COC;H<

CH,

For a reaction A—B, enthalpy of reaction is
—4.2 kJ mol~! and enthalpy of activation is
9.6 kJ mol 1. The correct potential energy profile
for the reaction is shown in option.

!

{

fy
| K B

Reaction Progress

K

3
PE .
A

Reaction Progress

&
!
@
"
®
"
@

b

h
/\B
A

-
Reaction Progress

b

\
AN
B

3 -
Reaction Progress
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75.

76,

77.

78.

2,6-SEHRA-CF-4-37 1 W& A=A E
R
s

@
P

T :

3T w2 U T FHHER <& ©
HF << H(C] << HBr << HI.

HATII :
S-S 9g § = S W TS F, Cl, Br, [ 1 3THR
a1 ST § 99-99 HF, HCl, HBr Ud HI & 94 &
T ST ST R | ST ST WY aedn S § |
ST FEl o WeRre | = feu gu fawedi | 9 weét
T |

1) w1 TE T AR HeT I 7Ted 2
@)  ®YTI T § Al e I wE 2
) T wmgT] Td wmAT I T ¥ |
@ o HuT TS w1 T E

2-3im T2 o formeg e sl = g
IEE U223 ¥ | 390 IS 1 ivr senid g
T

1) SEET FEm W
2) ohd [ W
(3) HeSIE A W
@ T

TF FEME AMTE | 78% (YR TN) FET U6 9y

WikeTd BTESIST 1 AN € | 59 AT & Herrard! g
w1 TS T & [T YR : C=12, H=1]

(1) CH,
@ CH,
3 CH

4 CH,

21

75.

76,

77.

78,

02

The correct structure of 2,6-Dimethyl-dec-4-ene
18 ;

Ry

(1)
&

@)
@)

F
Statement I :
Acid strength increases in the order given as
HF << HCI << HBr << HL.

Statement I1 :

As the size of the elements F, Cl, Br, [ increases
down the group, the bond gtrength of HF, HCI,
HBr and HI decreases and so the acid strength
Increases.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement I is correct but Statement I1
is false.

(2) Statement I is incorrect but
Statement I is true.

(3) Both Statement I and Statement II are
true.

(4) Both Statement I and Statement II are
false.

The major product formed in dehydrohalogenation
reaction of 2-Bromo pentane is Pent-2-ene. This
product formation is based on 7

(1) Hofmann Rule
(2) Huckel's Rule
(8) SaytzeffsRule
(4) Hunds Rule

An organic compound contains 78% (by wt.) carbon
and remaining percentage of hydrogen. The right
option for the empirical formula of this compound
18 : [Atomic wt. of Cis 12, H is 1]

() CH,
@ CH,
@ CH

@ CH,
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79.

80,

81.

82,

83.

84.

RBC &l =41, S sIfa A |

1) Te=iEaB; =
@ o= B, =
@) THR=EAB, H
@ o= B, =

T Wl H WTE TR ST | ST STTeehad argEM
g

(1) 1900 K 1sh

(2) 5000 K 1

(3) 1200 K W

(4) 2200 KT

frddama s e

(1) RS SO0 US o & 3T =ersh 8 §

@ UfArae st afufranie aad E, faem
w9 9 5 o gau fanfsm €1

@) rIAEE sThE H g § TF 7 o T
T 1 TfaeArge sgad st §

(@) IS TS RIS oTeH o see o
A B 2

FTay SRS T ST O Ug a9 e §

GLEATE ¢

1) Y oo uE Wi

@) <FE §Een
(3) TRHI: SEen Uy fger
(4) <A H &g

foreit weit ot (e fifafea) T e
A SCEhT UE sTeweshE e ot den 8y
g3l foeey % ¢

L 21
@ 12,6
3 84

@ 612

=1 Taerami =1 o T

250 m1 ST H 10 g TR (C4H,,0,) Tl et (Py),
250 ml S H 10 g & (CH,N,0) Bl ST (Py)
Tal 250 ml AT 10 g Goh¥ (C;oH,,0, ;) Tl HAH
(Py) | T foeremi & TUeR Sl % ¥2d 9 H el
IEETR

1) Py>Py>P,

@) P3>P>P,

B) Py>P;>P

4 P;>Py>P,

79.

80.

81.

82,

33.

34,

Hindi+English

The RBC deficiency is deficiency disease of ;
(1) VitaminB,

2) VitaminB,

@)  Vitamin By,

(4)  Vitamin Bg

The maximum temperature that can be achieved
in blast furnace is :

(1) upto 1900 K
(2) upto 5000 K
8) upto1200K
4  upto2200K

The incorreet statement among the following
18 :

(1) Lanthanoids are good conductors of heat and
electricity.

(2) Actinoids are highly reactive metals,
especially when finely divided.

(3)  Actinoid contraction is greater for element
to element than Lanthanoid contraction.

(4)  Most of the trivalent Lanthanoid ions are
colorless in the solid state.

The structures of beryllium chloride in golid state
and vapour phase, are :

(1) Dimer and Linear, respectively
(2)  Chainin both

(3)  Chain and dimer, respectively
(4)  Linear in both

Right option for the number of tetrahedral and
octahedral voids in hexagonal primitive unit cell
are ;

O 21
@ 12,6
(3 84
@ 6 12

The following soclutions were prepared by dissolving
10 g of glucose (CgH,50p) in 250 ml of water (P,),
10 g of urea (CH,N,Q) in 250 ml of water (P,) and
10 g of sucrose (C{3H550;¢) in 250 ml of
water (Py). The right option for the decreasing
order of osmotic pressure of these solutionsis ;

(1) Py>Py>P

2 Py=>P,>P,

3 Py>P,>P,

4 P,>P;>P,
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85,

86,

&7,

88,

89,

34 AT Wi UeEH o femen a1 & W foren
ik I FATEN S &R | Seeie ©

CH,
O CcHY  NH,
CH, CH,
@ CcHy ‘“IIJ/ “CH,
CH,
CH,
@ CHyY No.

@ CcHY N

U - B ( TWREFAYIR )

45°C T T ToereF Torad o=l Ta a1 1 HieR
3 3 ; 2 7, IHh AT [ % AH TRl fawew
T

[45°C 9% S 3T 9157 Q16 280 mm Hg T91 i
1 A T 420 mm Hg ¥ 1 &7 76 AH]

() 336 mm Hg
(2 350 mm Hg
(3) 160mm Hg
@ 168 mm Hg
Geit-1 =1 frem |=i-11 |+ |
-1 -1
(@) [Fe(CN)g3~ O 5.92BM
(0  [Fe(Hy0)g]3* i) OBM
(c) [Fe(CN)g] 4= (m) 4,90 BM
@ [Fe@0)2*  Gv) 173BM
= feu o fowredi O 9w S| A |
(D (a)-), b)-Gid), (©)-1v), (d)-(i1)
2)  (a)-(v), (b)-G), (c)-(id), (d)-(iii)
@) (@)-v), (b)-(), ()-(), (d)-(iii)
@ (a)-(D), (b)-Gv), (0)-(i1), (d)-()
Al & Fefafen 79 8§ 9 3 T T qE
THTE 82
(1) Mn2+, Fe3t
(2) Fe2+t, Mn2t
(3) 02— F-
(4 Nat, Mg2+t
feu g stopet O @ P SyEE UFa wE?
()  SbCl
@ NO,
@ POCl
@ CHO0

23

85.

86.

87.

88,

89.

02

Identify the compound that will react with Hinsherg’s
reagent to give a solid which dissolves in alkali,

CH,
O  cHY  NH,

CH, CH,
@ CcHY “III/ “CH,

CH,

CH,
@ cH No,

CH, CH,
@ CH SNH

Section - B (Chemistry)

The correct option for the value of vapour pressure
of a solution at 45°C with benzene to octane in
molar ratio 3: 2 1s:

[At 45°C vapour pressure of benzene 1s
280 mm Hg and that of octane is 420 mm Hg.
Assume Ideal gas]

(I) 336 mm of Hg
(2) 350mm of Hg
(3) 160mm of Hg
(4) 168 mm of Hg
Match List - I with List - I1.

List -1 List - I1
(@) [Fe(CN),3- (1) 5.92 BM
B [Fed,0)6]** i O0BM
©  [Fe(CN)gJ4~ (ui) 4.90 BM
@ [Fe(H,0)]2* iv) 1.73BM

Choose the correct answer from the options given
below.

L (@)-G), b)-(iid), (¢)-(iv), (d)-(id)
2 @), -, (©)-G), (d)-ii)
@) (@-av), (b)), ©-0, (d)-iD)
@  @-3), b)-(v), (©)-(ii), (d)-@)

From the following pairs of ions which one is not
an igo-electronic pair ?

(1) Mn2t, Fe3+
(2) FeZ+, Mn2+
3 02, F-

(4) Nat, Mg2+

Which of the following molecules is non-polar in
nature ?

1)  ShCl,
@ NO,

@ POCl,
@ CH,O

sh
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90.

91,

92.

weit-1 =1 fete geir-11 | |
Tei-1 E-11
€O, HCl
(a) e AICL () ©O-HS-
CuCl S st
T
(b) R—C—CH,+ (i) TREF-HE
NaOX — st
(¢) R—CH,-OH (ii1) SereE il
+R'COOH
R Hy80,
(d) R-CH,COOH (iv) T
X/ P |
(i) HyO
= few e foered 4 € 9 SR A |
1) (@-0), ®)-Ev), ©-iD), (d)-i)
@) (a)-Gi), (b)-(iid), (c)-Gv), (d)-()
(3)  (a)-(v}, (b)-(Q), (0)-(1), (d)-(11)
@ (a)-Gi), (b)-(1), (c)-{), (d)-Gv)
weit-1 1 et geir-11 | R |
-1 G-11
(@)  280,(g) + Oye)— Q) 3T
2504(g)
t) HOCKp) _hv_, () YA
OH+Cl
@ CaCO,+H,80,—> (i) ST &0
CaSO,+H,0+ CO,
d) NOy g _bv Gv) sraHedE
NO(g)+0(g) LRk
= feu o fommedi o S TR SR T
1) (2)-Gv), (b)-(id), (0)-@), (D)-()
@) (a)-(ii), (b)-(id), (c)-(iv), (d)-@)
(3)  (a)-(), b)-Q1), (c)-(111), ()-(1v)
@ (2)-Gi), (b)-GiD), (©)-Gv), (d)-G)

et werg wife =1 a1firfaran <= foau sRfom TR

(m k vis %J FIAFAN — 5x 103K T srfafsran

& fAUE, 1 9 § | T forheq <4 |
(e T ® : R=8.314 JK~lmol ~ 1]

()  166kJmol~!

(2) —83kJmol!
(8) 41.5kJ mol~?
4 83.0kJmol™!

90,

91.

92.

Hindi+English
Match List - I with List - I1.
List -1 List-11
CO, HC1 :
- » 1-Volhard-
(a) Anhyd AICL) (1) Sel. ; ard |
CuCl elinsky reacfion
0
(b)) R-C-CH;+ (1} Gattermann-Koch
NaQX —» reaction
(¢) R—CH,;—-0OH (1i1y Haloform
+R'COOH reaction

Conc. HyS0,

(d) R-CH,COOH
() Xo/Red P

) HyO

(1v) Esterification

Choose the correct answer from the options given
below.

1) @-@), b)-Gv), (©)-id), (d)-(1)

(2)  (a)-(1), (b)-(id), (c)-(iv), (d)-()

@ (@-v), (b)-(), (c)-(), (d)-u)

@  (a)-(u), (b)-G1), (©)-(), (D)-Qv)

Match List - I with List - I1.
List -1 List-11

(a) 250,(g)+0xg)— @O Acdrain
2505()

® HOClg) __bv | (1) Smog
OH+Cl1

(c) CaCO;+H,S80,— (i1i) Ozone
CaS0,+H,0+CO, depletion

(d) NO, (&) L (1iv) Tropospheric
NOi{g)+ O(g) pollution

Choose the correct answer from the options given
below.

1 @-w), ()-(id), (©)-0), (d)-d)
2) (@), (b)-(i), {)-v), (d)-@)
@) @-0), (b)-i), (0)-Gib), (d)-(v)
@  (@-a), (b)-(1), (¢)-v), (d)-O)

The slope of Arrhenius Plot [ln k vis %—J of first

order reaction is —5 X 103 K. The value of E o of
the reaction is. Choose the correct option for your
answer.

[Given R=8.314 JK ~mol ~!]

(1) 166 kJ mol !

2 —83kdmol!
(3) 41.5kJmol™1
4) 83.0kJmol1

T
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93.

94,

95,

gyar Rl 3 feht eneel 19 % T eravia
TER % T w@ fasea €

(1)  AU=0, A8, #0
@  AU=0, AS, =0
3 AU=0,A8,,,=0
@  AU#0, A8, 20

e | & Tora sz 4, 379 TH- S0 T4 I[uieH o
3R, 3fua %9 & e g2

() NH,<PH, 3TEATT T
< AsH, < SbH, o3 HA T
@  CO,<8i0, STTFTaRT0T 47T 6
< Sn0, < PbO, d FI |
(3) HF <HCl AT O &
< HBr < HI Hgd HH H
4 Hy,0<H,S : pK, AT & &ed 3
< HySe < HyTe H
e TrrafTe sifwire § ffda s #
T ]
CH,—C—O0CH,
NaBH, ,
CH, C,HO0H
OH o
I
CH,—C—CH
1) OH
CH,
OH 0
Il
CH2 - C I OCHB
2)
CH,
OH H
I
CHy-C—OCH,
3) OH
CH,
0
CH,—CH,—OH
@

CH,

25

93.

94,

95.

02

For irreversible expansion of an ideal gas under
isothermal condition, the correct optionis;

(1) AU=0, AS, ;70
2 AU#0, A8, =0
@) AU=0,AS, ;=0
@  AU=20, AS,,,,,#0

In which one of the following arrangements the
given sequence is not strictly according to the
properties indicated againstit ?

(1} NHj; < PH,4 Increasing
< AsH, < SbH, acidic character
@ COy, <810, Increasing
< 5n0, < PhO, oxidizing power
(3)y HF <HC(CI Increasing acidic
< HBr < HI strength
4 H,0<H,S Increasing pK,
< HySe < HyTe values

The product formed in the following chemical
reaction i1s :

O 0

Il
CHz = C - OCHE
NaBH,

C,H;,0H

CH,
OH H
[
CH,-C~CH,

1) OH

Q,

CH,

OH 0
Il

CH,—C—OCH,

2)

Q,

CH,

OH H

|
CH, - L;l —OCH,
(3) OH

CH,

CH,—CH,—OH
4)

Y

CH,
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96.

97.

NH,
Br Br Br Br Br Br
NakMNG,, HCI R
ottt i e E—
0-5C
Br Br Br

93,

99,

26

1 SR sTadR § 0°C R U fagu f5wd 4 ¢ 0, T
2 ¢ Hy &t T8 §I, SUH $@ I (atm H) F T

faea I A |
(e T ¥ : R=0.082 L atm mol~ 1K -1, T=273 K]
1) 25.18

2) 26.02
(3) 2.518
@) 2602

T AAfafEm F g d sifieds R %

NS Cl”

(1) HI
@ CuCN/KCN
@ H,0

4  CH,CH,OH

NaOH, + ?
™

CH,CH,COO~Na* > CH,CH, +
Na,COq.
e aaffmen H sAufeerd sTfienter/Tara i 9ga |

(1) CaO

(2) DIBAL-H
8 B,H,
(4) T BERRH

0.007 M udifewm J=A T HITX ITAF
20 S em? mol ~1 | wHifew vt w1 o feeris
w1 T ? W fowew T |

N 4= 350 8 em? mol !
)21

A:}HSCGO_ =50 8 ¢cm? mol ™!
() 1.756X10 " °mol L1
(2) 2.50x10"%mol L1
(3) 1.75X10"*molL~!

@ 250x10"4molL-!

96,

97.

Br

98.

99,

Hindi+English

Choose the correct option for the total pressure
(in atm.) in a mixture of 4 g 05 and 2 g H, confined
in a total volume of one litre at 0°C 1s ;

[Given R=0.082 L atm mol ~1K-1 T=273 K]

(1)  25.18
2  26.02
(3) 2518
@) 2602

The reagent ‘R’ in the given sequence of chemical
reaction s :

NH, A
Br Br Br Br Br

NalNQ.,, HCI R

2 ="y
Br Br Br
) HI
@  CuCN/KCN
@ HO0
4  CH,CH,OH

¥ NaOH, + ? .

CH,CH,CO0 ™ Na* —="2=t——— CH,CH, +

Na,CO,.

Consider the above reaction and identify the
missing reagent/chemical.

1) CaO
(2 DIBAL-H
@  BoH,

(4)  Red Phosphorus

The molar conductivity of 0.007 M acetic acid is
20 S ¢cm? mol~!. What is the dissociation
constant of acetic acid ? Choose the correct option.

A° L =350 S em? mol 71
H

A° _ =508 cm?® mol !
CH4C00

() 1.75x107% mol L1
2  2.50x1073% mol L1
3 1.75x1074 molL~!
@ 250x107% molL~!
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100. 7= Tomaf aifufsran o qeredl s Y R

)
CH, C
~
H +
Cl
P
CHH\
(D) Of Cl

Gl

CH
-
% : _CH(OCrOHCl,),
@ O/

IFUTT - A ( SHafas ; sFafafaaT )
101, W= - [ & G=i - 11 & Wiy gafed sifs |

CH(OCOCH,),

el - 1 el - 10
(a) [SFrerzea e (@) [JoterermT
(b) | 959 == HaeH (i1) [T
() |AReey gasfq (311) [T
() [JegasH (iv) | TersiT] Had aigy
= fed T fawedi § 9w S g
@ (b)) © @
(1 G av @ (1)
@ v @) @ @
3 @ av @ @
@ @ @ (v @

102. TF UKY & WITHN | ARG &, & 9= Ue9 &
ST W TR 3 U i |1 vee e g1 €
Tored wrm 3 <R afdenn W STEE w9 H e
YT & WATEHT &1 ST & 7
(1)  S=Iter eToft
@) AT WET
(3) T
(4) SIS 9ROy

103, F=fafes ¥ 9 $F 91 TR U T4 wES g9E
S FA 8 ?

(1)  SERerd

(2)  STFARE foreer
(8)  TIHIdH oI
@) AR GARTSH

27

100.

101

102,

103.

02

The intermediate compound X’ in the following
chemical reaction is ;

0
[

CH, C
s, _ H.O+ ~pq

50
CH“\
o O/ a
0l
CH
@ : _CH(OCrOHCl,),
@ CH(OCOCH,),

=

Section - A (Biology : Botany)

Match List - I with List - IT,

List -1 List - 11
(a) | Protoplast fusion (1) |Totipotency
(b) |Plant tissue culture | (i1) [Pomato
(¢) |Meristem culture (ii1) | Somaclones
(d) |[Micropropagation (v) | Virus free plants

Choose the correct answer from the opfions given
below.

(@) (b) (@ ()
@ w m © 2@
@ v @) @ @
@ @) @) @ 6
@ @ O @ @

The term used for transfer of pollen grains from
anthers of one plant to stigma of a different plant
which, during pollination, brings genetically
different types of pollen grains to stigma, is :

(1)  Chasmogamy

(2)  Cleistogamy

(3) Xenogamy

(4) Geltonogamy

The factor that leads to Founder effect in a
population is :

(1) Mutation

(2)  Geneticdrift

(3)  Natural selection

(4) Genetic recombination
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104. Feit- 1 0 gt - 11 % T gHfed S |
eii- 1 el 11
@) |HH W ?Fuaﬁamjfmmw
&) |ord - Stel ST < sl
© [T% T (iil) [ga sroren # 5 B
| ot
@ [FrEm |G ﬂ;ﬁ s
i T3 T2 faeredl o 9 wE SR giu |

105.

106.

107.

108.

109,

@ () © @@
1 @ @ a) @
2 @ @ Gv) i)
3 @ aa @O ()
@ v ) @ @
g sraedr # UEH YrEdl SgaEisi YRy
feafafer f A s a8 ?
(1) 7-FEHE R 7SR
@)  8-FEHY IR 8- HITTF
(3)  8-FEHF AN 7S
@)  T-HEHE IR S

IS Ysitedr & #rE vy faefaa = s
HFEAME?

() SdA(=);STAaB(-)

(2) SMdA(+);: AB (0)

(3) SIfdA (=) ;S B ()

(4) SMTA(+);STAB(+)

I W @, Tufeyd dmEe ¥ Ahwith S

ok o o .4t fafeor & srwla S g aw
o %4 fead €7

(1) Tl o g
(2) I Al ate
(3) el ufga

(4)  =ETHFI AR i

frfafas § @ sneipEh fawem =t fra s o
TETeg W AT g ?

(1) 9=EE= - 10

@) e - 11

8)  TeAeRe - |

(4)  HEEERA - 11

Frefafea § @ o=@ 91 gy syafemsd 22
) TR wferaTHE

Q) HEHT Gl

(3)  FRHT Iy

@ FE
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104, Match List - I with List - I,
List -1 List - IT

(a) | Cohesion @ Mor? attraction in
liquid phase
Mutual attraction

(b) | Adhesion (i) [among water
molecules

(c) |Surface tension | (iii) Water loss in Liquid
phase

@) |Guttation %) Attraction towards
polar surfaces

Choose the correct answer from the options given
below.

(@ (M) @©@
@ e @ o @
@ @ 0O e @
@ @ @ O da
@ ) (@ W @

105. A typical anglogperm embryo sac at maturity i1s :
(1)  T-nucleate and 7-celled
(2)  8-nucleate and 8-celled
(3)  8-nucleate and 7-celled
(4)  T-nucleate and 8-celled

106. Amensalism can be represented as :
(1)  Species A(—);Species B (—)
(2)  Species A (+) ; Species B (0)
(3) Species A (=) ; Species B (0)
(4) Species A (+) ; Species B (+)

107. DNA strands on a gel stained with ethidium
bromide when viewed under UV radiation, appear
as

(1) Darkredbands
(2)  Bright blue bands
(3)  Yellow bands

(4)  Brightorange bands

108. Which of the following stages of meiosis involves
division of centromere ?

(1) Anaphasell
(2)  Telophasgell
(3)  Metaphasel
(4)  MetaphaseIl

109. Which of the following plants is monoecious ?
(1)  Marchantic polvmorpha
(2) Cyeas circinalis
(3) Carica papaya
(4)  Chara

T
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110,

111.

112,

113.

114.

115.

YHTSIRITCTd & SIOF 9189l H WehTST & STeTH o1 T4
FHATE?

(1) e HidH
@

(3) TR

@

frafafas 5 9 29, wru | fodos sa=ers @
872

1 To=aeEE, s
@) R g

(8) %, FEH

@9 R T, T

T GPP —R=NPP ¥ R &% faeiog st & ?

()  SIER HEh

@)  vEE g

(3 fafw st

(4)  HEAHEH

e 3 WegeR A urey ol vell o sreRe e ¥

7 faf9= Y =Rl WA & FEiw & fow &=
aﬁﬁg@ﬁmmﬂﬂw‘vﬂﬁ%l TH &HAT ] HE
S g ?

() gES
(2)  gigeR
(3) TS
@ @

ThTa, SIS, B 3R Shfegmy ST UTShi @i
T | a7, fRt e 7@ waa ° e gefifa =i S
2?7

() TAET e

(2) I wEd

(3) T ST

(4  =EHHHIH

Freferfaa B ¥ i 91 %9 e § 2

(1) UREhEH! STIHE, g & STeg Stk v
SR HIfTrE=T o SUMEYd TSyl o 99 SEy
T HH T L

@ FEw fog, FEw I Sifvems % =9 gHi
fenetl § TeF ok SR TAT, o1t & fom,
ek 99 ] Witd $ T £

(3) ufigysd =rerE afee el § U R e
iR TR FifERE=EE S g |

@)  YaTeH, Enl SR SRl g o el St €
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The site of perception of light in plants during
photoperiodism is ;

(1) Axillary bud
(2)  Leaf

(3)  Shoot apex
(4) Stem

Which of the following are not secondary
metabolites in plants ?

(1)  Vinblastin, curcumin

(2)  Rubber, gums

(3) Morphine, codeine

(4)  Amino acids, glucose

In the equation GPP — R =NPP
R represents:

(1) Environment factor

(2)  Respiration losses

(3) Radiantenergy

(4) Retardation factor

Plants follow different pathways in response to
environment or phases of life to form different
kinds of structures. This ability is called :

(1) Plasticity
(2) Maturity
(3) Elasticity
4y  Flexibility

The amount of nutrients, such as carbon, nitrogen,
phosphorus and calcium present in the soil at any
given time, is referred as :

(1) Standing state

(2) Standing crop

(3) Climax

(4) Climax community

Which of the following is an incorreect
statement ?

(1) The perinuclear space forms a barrier
between the materials present inside the

nucleus and that of the cytoplasm.

(2)  Nuclear pores act as passages for proteins
and RNA molecules in both directions

between nucleus and cytoplasm.

(3) DMature sieve tube elements possess a
congplicuous nucleus and usual cytoplasmic

organelles.
@

Microbodies are present both in plant and
animal cells.
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116. e - I =TT - 11 % W1 Yoo Shifs :

117,

118,

119,

it - 1 it - 11

HfeRa e favrsH .
(a)aﬁww N 1) [Hdgd 3d<h

T ds fagd gt
s deaAn e
F4 %1 gfic 9 9um 2

(h) T EESEIRED

faf= ger =t

S — (ii) |Fenferfis

(c)

sty ARl Tula @
TRl T e
ELNETR]

(d) (iv) |9 Fas®

1 fh T Foredi B W SR 9
@ ® © ©@

O 6 G G @

2) G @ @ @

@ @ ) O G

@ v ) @ @

SR BT FHhI o1 ICUTE,

THE T HeFll 3 7
(1)  THE o

@ Ao

¥ T

@) d=EE
Ry Hifsramas H T g Scafiad T Uitm faman s
T & ?

(1) T TR
2 Tome

(3 AR

4)  3Taver foeo

T H €O, Feardero # wgern wordt Sourg = 8 2

OERRE I EER T
2)  FERFETHRE T
3  TEEEE
@) ST eE T

st 1 Fmir iR
F, iR F, 9d & Ffataa § @ fea fo g
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116, Match List - I with List - I1,
List -1 List - 1T
(a) Cells with active cell @ Vascular
division capacity fissues
'Itlss:ue bawng all cells ... |Meristematic
(b) |similar in structure |, .
: f1ssue
and function
Tissue having :
. Sclereids
(©) different types of cells (1) | Sclere:
Dead cells with highly
(d) [thickened walls and (iv) |Simple tissue
narrow lumen

Select the correct answer from the options given

helow.

1)
)
()
4)

117.

(@ (b @ (@
@ @ @) @)
(i) @) @) @
i Gv @O @
(v) @) @) @

The production of gametes by the parents,

formation of zygotes, the F'; and F; plants, can be
understood from a diagram called ;

)
2
3
€

118.
1)
2)
@)
4)

119.
18 .

D
)
(3)
4)

Punnett square
Net square
Bullet square

Punch square

Mutations in plant cells can be induced by :

Gamma rays
Zeatin
Kinetin
Infrared rays

The first stable product of CO, fixation in sorghum

Succinic acid
Phosphoglyceric acid
Pyruvic acid

Oxaloacetic acid

o=
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120. T - I =0 et - 11§ gufaa SIS |
Tl - I il - 11
. | H et
(a) [Tt @ ot
5 .. | S H Tewn-
(b) |arEiREE | () s 7 S
(@ [qurgatay | (i) |SEeefoeR | stasiferd
| it e A
@ |faxst (”)arqa o omp
= T3 T Taeredi H 9 wE S gia |
@ » @© @@
Q) G G @ @
@ @ @ @ @
@ v ) @ @
@ @& G G @
121, Frefafes ¥ 9 =9 91 %97 98 ¥8 © 2
Q) Fei o ffhe e dien 2 €
@ TS 9 g uie= § Fen w fifhs
g ¥ |
@) s U SR @ fifre e sear dar g |
@ TR T SR = fRfoe SR e 3 g
122, S/ TURIATSRG, TURIE I < SUEE SIS & A% H
Teera B & 99 9% W1 HEAN G ?
(L) SYHETE!
@ sTgH
@) ARl
@  Sfawel
123. Tr=fafaa § 9 ®F wr, 9./ (Wifamis S@en
sifufsman) = U ST g 27
1) 9 fRA T ORI S
(2) ST ST = Iar ST
3  smfaed feE
(4)  SF Y=EER
124. 3 39 5 % Reiforan iR @ifcaf T, A TR &
SSTTY] SEfed d & | U™ TS SR S el Sl § 7
()  FEESTS
@ oS
@) EHRR"
(4)  TeUEH
125. TFHd | SiaUedg gfaest & dese, gfawdt w9

STl STl o ST STSaal & AT S 9 fafy =
e Teman 2rm 7

(1) SRR

(2) 9%

(3 oy faursm
@ i T
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Match List - I with List - I1.
List - I List - II
() |Cristae @ Primary constriction in
chromosome
() | Thylakoids (i) Dlsc-‘shaped gacs in
(Golgi apparatus
... [Infoldings in
(¢) |Centromere | (iii) mitochondria
Flattened membranous
(d) | Cisternae (iv) |sacs in stroma of
plastids

Choose the correct answer from the options given
below,

(@ (b)) (© ()
@O w m © 9 W
@ @ a @ O
@) Gv @) @ @
@ @ @ W W

Which of the following statements is not correct ?

(1) Pyramid of energy is always upright.

(2) Pyramid of numbers in a grassland
ecosystem 1s upright.

(3) Pyramid of biomass in sea is generally
inverted.

(4) Pyramid of biomass in sea is generally
upright.

When the centromere is situated in the middle of
two equal arms of chromosomes, the chromosome
is referred as:

(1)  Sub-metacentric
(2)  Acrocentric

(3) Metacentric

(4)  Telocentric

Which of the following is not an application of PCR.
(Polymerase Chain Reaction) ?

(1)  Purification of isolated protein
(2)  Detection of gene mutation

(3) Molecular diagnosis

(4)  Gene amplification

Genera like Selaginella and Salvinia produce two
kinds of spores. Such plants are known as :

(1) Homosporous
(2)  Heterosporous
(3) Homosorus

(4)  Heterosorus

Ingpite of interspecific competition in nature,
which mechanism the competing species might
have evolved for their survival ?

(1) Mutualism

(2)  Predation

(3)  Resource partitioning
(4)  Competitive release
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126.

127.

128,

129,

130,

131.

132,

133.

St TR o =T € 7

1) TS EEqarsiE o
@ F3 faae |

(8 WEH

(9 EwEeH

frefafes ° 9 = 4 SO SHUsiy S0 o3 § 7

(1) o I

2 o-giE SEE

@) ©fa 9=

@ e

Fepetfitfiara 9, wifeiet seen sifufmar (det.am.)

Ederuikcacan ke ik Elc R e i

Q) ER, FfSEE, aEtier

@)  arrgEier, P, yar

@) TSk, arefier, e

(4) TrfSEEEw, JER, qreEier

feafafrrd e o i S= @ &+ &9 §

e B 8 ?

(1)  Ficaieg

@)  JouaT

(8) TFIFYG

Q)  TaErT

Tl YoreR foras ar sTa § 7

() HX

@ IR SR

(3) IS

@ g

o1 fagra (S=e <) %1 ol wer o 2

@ (dna &5 mrna @, @

(1) (2)-FITHRIRT; (b)-STIE;
() -FGRIRT; (d)-Hi2H

@) (2)-URERHUT; (b)-F9T=ILU;
(c)-HfTpTaerTor; (d)-4ieH

(3)  (a)-HIIHRIAR; (b)-STIIE;
(0)-UTIERHYT; (d)-FF

@) (a)-FH=RT; (b)-Hfcrapiaeur;
(c)-BTTEGT; (d)-WIGHA

T 1 Si T & AU, SiF Ja9 &d gU TF S
EARGERE T RS | A A F o B ) e s 5

(1)  ATerRk feM

@) gL TdEm

5)

(4) ST TR

UsF @d H S9UE &1 TAW FH S+ fdu & 91 9ey
BTRAM SYERT H A1 SIRT & 2

1) 2, 4%t

@ R

(3) SRTY,

4 LG
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(Gemmae are presentin;
(1) Some Gymnosperms
(2)  Some Liverworts
(3) Mosses
(4)  Pteridophytes
Which of the following algae produce Carrageen ?
(1) Redalgae
(2)  Blue-green algae
(3) Greenalgae
(4)  Brownalgae

Which of the following is a correet sequence of
steps in a PCR (Polymerase Chain Reaction) ?

(1)  Extension, Denaturation, Annealing
(2)  Annealing, Denaturation, Extension
(3)  Denaturation, Annealing, Extension
(4)  Denaturation, Extension, Annealing

Which of the following algae containg mannitol as
reserve food material ?

(1)  Volvox

2 Ulothrix

(3) Ectocarpus

)  Gracilaria

Diadelphous stamens are found in :
(1) Pea

(2)  Chinarose and citrus

(3) China rose

(4)  Citrus

Complete the flow chart on central dogma,

@(bna 5 mrNa 9, @

(1) (a)-Replication; (b)-Transcription;
(c)-Translation; (d)-Protein

(2)  (a)-Transduction; (b)-Translation;
(c)-Replication; (d)-Protein

(3) (a)-Replication; (b)-Transcription;
(¢)-Transduction; (d)-Protein

(4) (a)-Translation; (b)-Replication;

(c)-Transcription; (d)-Transduction

When gene targetting involving gene amplification
is attempted in an individual's tissue to treat
disease, itis known as :

(1) Molecular diagnosis
(2)  Safety testing

(3)  Biopiracy

(4) Gene therapy

The plant hormone used to destroy weeds in a field
18 :

D

2,4-D
2 IBA
3 1A
4 NAA
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184. Wt - I 1 ol - [T % Wy gofed SIS |
T - 1 T - 10
(a) |ATHY OEAUEE]
OIE A IERE Gi) |[gafE s
(¢) |fgifraeh sege (ii1) |l 1 SARHE-YEA
(d) [=hre (iv) [FFT- 3R
= T3 T Taeed H 9 wE S gia |
(@ (b)) @ @@
GO @ G G @
@ v @ @ G
@ v O ) @)
@ @ @© @ @
135, TTEMTS E1LUA.E YRt < fau srateon wiewan |
itaet 39T 1 Taem & 97 T srasifa e § 2
1 feEm
@  TifeeREs
(3) SRTAT
(4 ST
AU - B (SHtafersr ; sreafafersr )
186, Wit - I sl Qi - 11 & w1y FAfem wifse |
=it - 1 =it - 11
(a) [UEH @) |C=C fgay
(b) d-lﬁbq%l o 27T | () [ FEEEE T 9
©) [ o | (i) [FEhEESE 9
(d) [diedse (iv) |TeTEE T
i T3 T Taeedi H 9 wE S g
@ (b)) © @
GO @ ® Gv @)
@ (v @) @ )
@ G ® @ G
@ @ Gv G) G
137. W - I %l @Y - I1 | gHfoa Fifs
W -1 Wy - 11
(a) %§ K{ﬁ}cl +2+{2}A{9) + 1Q1 (1) m
(b) QéK{E}(E;AaQQ (i) w
(c) @§m3+ 3Gy (i) e
(d) $§K2+204A2—4Q{2} (av) BISEE]
i T3 T Taeedi # 9 wE S gia |
(@ () © @
(L @ @ @ @
@ v W @ (@
@ G v @ 6
@ @O @ @ @
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Match List - I with List - I1.
List -1 List - 11
(a) |Lenticels (1) |Phellogen
(b} |Cork cambium  |(i1) |Suberin deposition
(e) |Secondary cortex |(i11) |Exchange of gases
() | Cork (iv) |Phelloderm

Choose the correct answer from the options given
below,

(@ (b)) (© ()
O @ ) ) @
@ G G @O )
@ @ O @ @
@ @) @ ) @

During the purification process for recombinant
DNA technology, addition of chilled ethanol

precipitates out ;

(1)  Histones

(2)  Polysaccharides
(8) RNA

4 DNA

Section - B (Biology : Botany)

Match List - I with List - I1.

List -1 List - I1
{a) |Protein (1) |C=C double bonds
Unsaturated . .
h
(b) bt anid (i1) [Phosphodiester bonds
() [Nucleic acid (111) | Glycosidic bonds
(d) | Polysaccharide | (iv) | Peptide bonds

Choose the correct answer from the options given
below.

@ (b @© @
H @ @ Gv) db
@ ) @ @O @
@ @) @O @ db
@ @ v @ @

Match Column - I with Column - 11,
Colunmn -1 Column - I1

(a) %§ KeCiiorAg+1G; () Brassicaceae

() 3G K 5,C i AsG
T

) $§P(3+3)A3+3Q{3)

(d) $(§K2 1908 _ Gy
Select the correct answer from the options given
below.

(1) Liliaceae
(111) Fabaceae

(iv) Solanaceae

(@ (b @© (@
O @ @ v @
@ ) @) @ @ db
@ @) v @ @
@ ® @ @ )

T
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138.

139.

140,

141.

wifTE pBR322 T SH amp® ¥ 378 Pst] Iiaesm
Ten § S uweifaety ufady < &1 afe @
T=TEH i - IAFREES SEA & 40, T 9 &
fou frafim frar S/ % ok el @i &
g Fich & 4 fafta fen s & 9

(1)  THY YN IR | 9 & ST

() THH £ &A1 WY T W S0UeT Y AT
BT

g U HITYERT Rl T giaad T8
o |

wuraiid shifvrerrell § wriifaeiT oty =t s
BT 37T WY & - EEs Sered O

el S I T FAT T ?

) i St shfam aedl w it an E 5= garsier
gl S 2 |

TS 19 YA TELISH & SATSBTE TR
Fat S arelt fafirse wifiERet 4 fufga
Teha ¥ |

Tl HIERIST F T T Fgh Hodd Fal
SR

ST YIATh R A T TTHHI o 1<l Siaged o
HAST Fi ISR 59 el ST ¢ |

B.EA.T, seteTd § ST o °§ g fafire
A ¥ faaetl it Teem S 9t &1 39 fafms
T I T e ST 2

(1) U RS
@ I I,
(8) SN AT
@ TREWELTT

fr=fafen 8 9 W& 9 =1 AT

(1) A fERuT et ShiTSTeRr ST - SHTRIge™
Fiae ae ™ & am ieam
faTor et €

HTEIca Tl BIE- arct - FSi ggaes
Toiferer gg +ifdeer i

B H il o HAHR

=1 fog =t ¥

T 92 TeH Rea
ERIREAD]
fesieros wfeai |
HEgT gUSd,
o fafe ot o2
wifeTeRTRT 9
oy g ¥

3)

(@)

2)

(3)

@)

2)

(3)

(4) - ifirr Faw
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Plasmid pBR322 has Pstl restriction enzyme site
within gene amp® that confers ampicillin
resistance. If this enzyme is used for inserting a
gene for PB-galactoside production and the
recombinant plasmid is inserted in an E.coli strain

(1) itwilllead to lysis of host cell.

(2) 1t will be able to produce a novel protein with
dual ability.

(3) it will not be able to confer ampicillin
resistance to the host cell.

(4)  the transformed cells will have the ability

to resist ampicillin as well as produce
R-galactoside.

Which of the following statements is correct ?

D

Organisms that depend on living plants are

called saprophytes.

(2)  Some of the organisms can fix atmospheric
nitrogen in specialized cells called sheath
cells.

(3)  Fusion of two cells is called Karyogamy.

(4)  Fusion of protoplasms between two motile

on non-moftile gametesis called plasmogamy.

DNA fingerprinting involves identifying differences
in some specific regions in DNA sequence, called
as :

(1)  Single nucleotides

(2)  Polymorphic DNA

(3)  Satellite DNA

(4)  Repetitive DNA

Select the correct pair.

(1) Cells of medullary rays - Interfascicular
that form part of cambium
cambial ring

(2) Loose parenchymacells - Spongy
rupturing the epidermis parenchyma
and forming a lens-
shaped openingin hark

(3)  Largecolorlessempty - Subsidiary cellg
cells in the epidermis
of grass leaves

(4)  Indicotleaves, vascular - Conjunctive
bundles are surrounded  tissue
by large thick-walled
cells
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142,

143.

144,

145,

146.

SR Fig FH R

N,=Ne't 3§, e fordl frefua s 8?2

(1)  TTeh{des TATUF 1 STMER

(2)  SHIHfTE ST i $THR

(3)  HEH TR T 3MHR

(4)  TITEIH] STTUF T SATER

el s T s A e ?

L) T w1 gveTn 9y V% g g ¥

@)  SUTTEgH MR, YaEE o WM YEvRT ST
GGk

(3) SIS YaE & SR, SRS i gfie s
37T 9% HifHd g1

@ TILE.(zeweiT uftagn A@en) H,
NADH + H* & T 37 | LA, % 3 317
T4 § 3R U FADH, 9 T ATP 319 571 € |

frefafaa 4 & @& a7 gim)

(1) T ST §9K H $E 9%, T mRNA |
iR B 2 |

@ Taws STiH-=reeen wniEe w1 fafire ae
2

3) i A Afee TEFEE 2EEEE %1 hnRNA
¥ 3 Ty 9 <irer = 81

(@) SHAmE § ST i iRAl 1 TH9E S
% foTe TR UA. T, dfferiis], Rho &REF % A
afverd 31 S B

Frfataa A § T el o 9 9 76 T 9o i |

el B2

() OO, et

@ T, g

(8) o, JeiEt

(9 e, S

feafafard AR T FA @ e ?

() U e § PS 1R PS 11 SH1 B2 ¥

Q) TEhIE YRS BRI o PS 1 3iR PS I EH
e 2 E1

(8) ATP3RNADPH + H + ZFi =l TR =h9 T
TR & SR S0l 2T 2 1

@)  ifat - <ifel 9 e PS 1 2T S SR NADP
fizeRst & 3199 2 2
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In the exponential growth equation

N;=N,e™, e represents :

(1)  The base of natural logarithms

(2)  The base of geometric logarithms
(3)  The base of number logarithms

(4)  The base of exponential logarithms

Which of the following statements is incorrect ?

(1)  ATP is synthesized through complex 'V,

(2) Oxidation-reduction reactions produce
proton gradient in respiration.

(3)  During aerobic respiration, role of oxygen is
limited to the terminal stage.

(4) In ETC (Electron Transport Chain), one

molecule of NADH+H™* gives rige to
2 ATP molecules, and one FADH, gives rise
to 3 ATP molecules.

Identify the correct statement.

(1)  The coding strand in a transcription unit is
copied to an mRNA.

(2)  Split gene arrangement is characteristic of
prokaryotes,

(3)  Incapping, methyl guanosine triphosphate
is added to the 3’ end of hnRNA.

(4) RNA polymerase binds with Rho factor to

terminate the process of transcription in
bacteria.

In some members of which of the following pairs
of families, pollen grains retain their viability for
months after release ?

(1)  Poaceae ; Solanaceae

(2)  Rosaceae ; Leguminosae
(3)  Poaceae ; Rosaceae

(4)  Poaceae ; Leguminosae

Which of the following statements is incorrect ?

(1) Granalamellae have both PSTand PSIL.

(2)  Cyclic photophosphorylation involves both
PSIand PSTI.

(3) Both ATP and NADPH+HT* are
synthesized during non-cyclic
photophosphorylation.

(4)  Stroma lamellae have PS I only and lack

NADP reductase.
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147.

148,

149,

et - 1 1 et - 11 % 1y gafad sifsw )
et - 1 e - 11

(@) |S srarer @) [T = Hero g ®
(b) |Gz aTarEen (i) |ffisra sraeen
Al TaeH 3R
(c) |wrim svamer | (i) [ wA. T yiasfaew &
YRS B & S ST
(d) |G sTa=en (iv)|E1.TA. T, 1 HiTehiaqehtur
e fed T faedi 4 9 W W g

(@ (b)) (©
L v @ @ G
@ @ @) @ @
@ @ @ @O a9
@ v @ @ @
TUmeheah! SiEl o 9T eiEs &1 R § I UA.T,
TifrRSI- 111 ST et &1 & 2 )
(1) mRNA % Qe 1 s oiEa K
2)  FId snRNAs T STOIRET Fa1 ©
(3  rRNA (288, 188 3iR 5.8) i SToREa T §
@)  tRNA, 55 rRNA 3RsnRNA Fl STTIREd T S

IR o T oM o Jeared are 9 396 LU,

T TR L IR Th a8 LI SARTH TIHT F

THH! T29H L HER S0 U Tl SuiEiad siE

T U1 ST TSIl §9d & Tk ¢

(1) ARG S ®REAES hed W T8 Tl
Hifeh Uil o $AHT g T 81 & |

(2) SOREfdd S weEnhE fhed W T8 STt
Fifeh Ue H SR YTH o S

(3) Tﬁaﬁ;ﬁ?mﬁﬁﬁﬁqmaﬂmm
[ ST B

@  ScafEfda s wRrmnE e W ol 3t T
w9 Y 3T T

150. &Y - I w9 - 11 9 gafaa wifs

Wy -1 wWH - 11
() |TEZRIFE | () [T
®) - ) sHifar =1 A1EeE |
() | |(id) "s “E'Efa I MEE |
. [eradeda ArdeT w5
) |TEEEFRR | (V) S
4 3 T fosed ° 9 W W g+

@ ((b) (© @@
1 @ @ G @)
@ v @ @ @
B @ @) @0 @
@ O @ @) )

Hindi+English
147, Match List - I with List - 11,
List -1 List -1I
.. |Proteins are
R[> paese @ synthesized
(h) | G2 phase (11} [ Inactive phase

Interval between
(c) |Quiescent stage |(iil) |mitosis and initiation

of DNA replication
(d) |G1 phase (v) | DNA replication
Choose the correct answer from the options given

below.
@ () (@©@ (@@
H v @ @ @
@ @ @ @ @
(3 @) @ @ Gv)
¢ G @ @ @
148, What is the role of RNA polymerase III in the
process of transcription in eukaryotes ?
(1)  Transcribes precursor of mRNA
(2)  Transcribes only snRNAs
(3) Transcribes rRNAs (288, 185 and 5.85)
(4)  Transcribes t{RNA, 5s rRNA and snRNA

149, Now a days it is possible to detect the mutated
gene causing cancer by allowing radicactive probe
to hybridise its complimentary DNA in a clone of
cellg, followed by its detection using
autoradiography because :

(1) mutated gene does not appear on a
photographic film as the probe has no
complimentarity with it.

(2) mutated gene does not appear on
photographic film as the probe has
complimentarity with it.

(3) mutated gene partially appears on a
photographic film.

(4) mutated gene completely and clearly
appears on a photographic film.

150. Match Column -1 with Colunmm - I1.

Column -1 Column - IT
(a) |Nitrococcus | (1) |Denitrification
&) | Rhisobiam (i) Converglnn of o

ammonia to nitrite
Conversion of nitrite
to nmitrate
Conversion of
(d) [ Nitrobacter |(iv)|atmospheric nitrogen
to ammonia
Choose the correct answer from options given
below.
@ () @@ (@

H @ @ v a6
@ G G) @ O
() @ G @O a6
@ @ @) @) @)

(c}| Thiobactlius | (iii)
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151.

152,

153.

154.

155.

156.

JAU - A (Siiaiere ; wriurferr )
Ahohe ha TSIfUr BT § 2

1)  AeEE
@) Gy
(3  S-HEeE
@  eEE

T 4t 3T’ % IUAF 9 S a9 Ft stfafsmran & ke
7fg 3R 4 3T q9HE 991 el ol ad e b

0t 3R 1 BE T =] TS Yo S 2
(1) s

@ W EEH

(B) AR

4 TEX

A YA OiES Fa H ST e ?

(v e

(2) TEl

(3) T

@ feg

Forer o § 3 Tt Yo 3 vt W e w9

Y g 2

(1) ?ﬁwﬁ%nwﬁwmﬁﬁﬁwm@m
|

@ %R o e w fafa o suftea 3rf #

@ 3 ufEl o enft = at

@ ¥ Ifesw IfE B 2

ST T8 (9 il HIeTE 19 % fo7e S =61 ST
%7

(O &S
@  «hmhed
(8 it Tm

(4 FHAIHEA
et - 1 60 gt - 11 o wr firem 0

el - 1 el - 11

() | tegeforerd TR W) |wtfes s
(b) | weterdeet wlgard (i) |etfaes sma
©) | FrezifeTm =erfaen | |fafew spa
(@) | eeeriforg (iv) [sgfaftr o
=1 Toeregt & 3o 3O 1 =9 &4

@ b)) ©@ @@
L @ @ @O @)
@ v @ @ (@
B G @ @) @)
@ @ @ @ @
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155.
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02
Section - A (Biology : Zoology)

The centriole undergoes duplication during :
(1) Metaphase

2)  Ggphase

(3) S-phase

(4)  Prophase

During the process of gene amplification using
PCR, if very high temperature 18 not maintained
in the beginning, then which of the following steps
of PCR will be affected first ?

(1) Denaturation
(2) Lagation

(3) Annealing

(4)  Extension

Which one of the following belongs to the family
Muscidae ?

(1) Cockroach
(2) Housefly

3) Firefly

(4)  Grasshopper

Which of the following statements wrongly
represents the nature of smooth muscle ?

(1) Communication among the cells is
performed by intercalated discs

(2)  These muscles are present in the wall of
blood vessels

(3)  These muscle have no striations
(4)  They are involuntary muscles

Dobson units are used to measure thickness of ;

(1)  Oszone
(2)  Troposphere
3) CFCs

(4)  Stratosphere
Match List - I with List - IT.

List -1 List - 11
(a) |Aspergilius niger (1) |Acetic Acid
(b) | Acetobacter aceti (1) |Lactic Acid
()| Clostridium butylicum |(u1) |Citrie Acid
(d) | Lactobactlius (1v) |Butyric Acid

Choose the correct answer from the options given
below.

(@ (b @© @

O @ @ O G
@ G G O D)
@ @ @O ) @
@ ® @ @ )
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157,

R Uiy w1 Hed ¥

(1) SSXEH

2 FEAH

(3)  STIRN W ¥

(4 EATH

158. Wt - I I get - 11 % e frem 40
Gt - 1 Tt - 10

(a) |forggmaeen 1) |Hie=wE

(b) [T —dx (i) [N

GIEETRIFC (iif) [QferaT

CIEEAIRET (iv) [

=1 faredi | 9 sfag ST s =0 &4 |
@ (b)) © @

() @) v @ @

@ v @© (@

@ (v @) @ )

@ @) Gv) @ (ii)

159.

160,

161.

162,

T AT Si6 3 T el Sulerd B ¥ 2

(1)  9RdTE T

@ S SogfEe

(8) A GSUA

(@ Yo fereet

=1 % o g A 318 g 2 6 SerE 2
(1) Cuf7

(2) TS 375

@) CuT

@) LNG 20

a1 frees g daf@ e € 7
@)  IrRfed PEA % S 9

() Horihd fed F T wem U
(©  TRiHd Ha Y Yo H

@ I

) dwrfa®

=1 foereul O W SHFT I FU |
() & (b) W {c)

@ e (2) T ()

8) e (a), (b) T ()

@)  %E (b), (c) W (d)

ey § Torw <t H et erfierl @ngett & arfaer
BT €2

(1 HPreE

@)  SiRfEfiEg
(3)  Faw

1) EHlEEEeg

38

157,

158.

159.

160.

161.

162.

Hindi+English
Succus entericus is referred to as ;
(1)  Gastricjuice
(2) Chyme
(3)  Pancreaticjuice
(4)  Intestinal juice
Match List - I with List - I1.
List -1 List - II
(a) |Metamerism 1) |[Coelenterata
(b) |Canal system (i) |Ctenophora
(c) [Comb plates (1i1) |Annelida
(d) |Cnidoblasts (iv) |Porifera

Choose the correct answer from the options given
below,

(@ () @©@
QO @) @ @ 6
@ @ @ @
@ @ @ O G
@ @ O @

Receptors for sperm binding in mammals are
presenton:

(1)  Perivitelline space
(2)  Zonapellucida

(3) Coronaradiata

(4)  Vitelline membrane

Which one of the following is an example of
Hormone releasing IUD ?

1 Cu7

(2)  Multiload 375

3) CuT

4) LNG20

Veneral diseases can spread through ;

(a)  Using sterile needles

(b)  Transfusion of blood from infected person
(¢)  Infected mother to foetus

d) Kissing

(&)  Inheritance

Choose the correct answer from the options given
below,

(1)  (b)and (c) only
(2) (a) and (c) only
(3) (a), (b) and (c) only
4 (b)), (c)and (d) only

Which one of the following organisms bears hollow
and pneumatic long bones ?

(1) Macropus

(2)  Ornithorhynchus
(3) Neophron

(4)  Hemidactvius

T
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163.

164.

165.

166.

167,

et (Taeror wuel) | SAafisM (0,) TE e
ggaﬁm (CO,) i AT & (mm Hg #) B

(1) pOy,=95TAPCO,=40

2 pO,=159TEpCO,=0.3

@ pOy=104TEpCO,=40

@ pOy=40TApCO,=45

Tie Wk ¥ W € o7 H R w4 30% © u
ATHIA, TETIA We WEerEH faRa iaee 2 ?

(B T:30;G:20;C:20

i2) T:20:G:25:C:26

B3 T:20:G:30;C:20

4 T:20:G:20;C:30

T 7R SR ART QI QT HITSTehT STER & S o fae
TSt ¥ 3 G0 § 391 Hatd &1 fera wfaea

TR B 7

(L) 25%
@  100%
@ 50%
@ 7%

RS 71 % YHEl 3U9R & ot 39 IRMHS FeM
s - fopan faam =1 e O Jeeayul 81 R
FH 91 ayfvees frem aees Tifae vg=m & fag
g S # 2

() ELISATHAS

(2) HEdEAE

(8)  OFZA ST eI

(@) WS ST aFAE

Tt el =l v |

(@  HeSHraE HiE § e s S

b TEEASH BERRE U e Sig e §

(©  TCeRaEl | GST o TR S 6 S

@  IFTER H Ul Sehd Uig ure H WeEe
FETE

(€ S0l Haled &1 UiEreH i Tafimea 2t 21

= faedl @ sfera 3ot = == =10

D (a), ()T () TR E
@ (B, (0 () T F
@ (0, ()T () T
@ (), ()T ()T EI
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The partial pressures (in mm Hg) of oxygen (Oy)
and carbon dioxide (CO;) at alveoli (the site of
diffusion) are :

(1) pOs=95and pCO,=40
2 pO0y=159andpC0,=0.3
@) pO0y=104 and pCO,=40
4 pOy,=40and pCO,=45

If Adenine makes 30% of the DNA molecule, what
will be the percentage of Thymine, Guanine and
Cytosine init ?

QB T:30;G:20;C:20
2 T:20:G:26;0C:2b
@ T:20;G:30;C:20
4 T:20:G:20:C:30

In a cross between a male and female, both
heterozygous for sickle cell anaemia gene, what
percentage of the progeny will be digeasged ?

O 25%
2 100%
@) 50%
@  75%

For effective treatment of the disease, early
diagnosis and understanding its pathophysiology
is very important. Which of the following
molecular diagnostic techniques is very useful for
early detection ?

(1) ELISA Technique

(2)  Hybridization Technique

(3)  Waestern Blotting Technique

(4)  Southern Blotting Technique

Read the following statements.

(a) Metagenesisis chserved in Helminths,

()  Echinoderms are triploblastic and coelomate
animals.

(¢©® Round worms have organ-system level of
body organization.

(d)  Comb plates present in ctenophores help in
digestion.

() Water vascular system is characteristic of

Echinoderms.

Choose the correct answer from the options given
below.

(1) (a), (d) and (e) are correct
(2) (b), (c) and (e) are correct
(3) (c), (d) and (e) are correct
(4) (a), (b) and (c) are correct
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40

168. ¥t - I = et - 11 % 9 fiyema =S
el -1 el - 10
. [TeTteT e ¥ gee %
= D | i 2 2 81
(b) |3 7 = (i) |YEFaTES I TS
© FIETIRCY i Tt § YR
I REEINIER]
(d) |FfeTem S=8aT | (iv) SR A
EEEL
ey el 9 |Et ST =9 |

169.

170,

171.

172,

@& ®» @©
1 @ av @ Q@
@ (@ @ ) @
@ o @ @O G
@ O a @
‘AB’ mmg#wﬁaﬁfaﬁﬂa‘u@aﬁf%%%?
C

() RBC T Ud-A Ud U21-B ufewefl #1 sufrfa &
R

@) e T - A TE UA-B afedt 1 srafierfa
& HRY

(8) RBC il Wdg WUfdsH A T B <kt sTuftefd
& HR

4) T ufasH A T B i oTafeera & SR

3o o gl ° fem foerey &1 =39 4|

@ IRYEE $HET | H-Uere T8 g

b @R ¥ W U YR 9 S sgeiT o
H-eEs B 2 |

(@  Wek-IgeH 4 Hi-Uwrge @ g

@) T F U-TeET ve R SREeEEe
Sl gR Uk S[S B B |

= feu 713 foredl H @ 3faa ST & =999 %)

(D) I (a), (T (@

@ el () T (d)

(3 e (b) WE (d)

4) % (b) W {c)

STeIeRTel TeyTeeT Taanm ST afse e Sk ) gafem

W ¢ T 9 FR0 HEe el SR e

&I BT ©, ool © :

(1)  wEEatE afas
2 T=

(8)  EfEemn™

@)  usfE TSN

37a: Fafeeter 951 § 7 @ Fife afwmfaa g9 €72
1) Tiiest G, YR, TFEEH T8 TaTHmE
@ oSt |img, sdgedt Sfee, YR T

[SREETR

(3)  iaEeH STfeTaHI, SeR{URR], TEEH U R

(@) Sfagel ShfeeRT, Ties WiHY, TETwE
T

Hindi+English
168, Match List - I with List - IT,
List -1 List - II
(a) |Vaults (i) Entry of sperm through

Cervix is blocked

(b) [IUD= (ii) |Removal of Vas deferens

Phagocytosis of sperms
within the Uterus

(c) |Vasectomy |(1i1)

(d) [Tubectomy [(1v) |Removal of fallopian tube

Choose the correct answer from the options given
helow,
@ ® © ©@
G @ aw @
@ @ O @ @
@ @ w @O @
@ @O @ w )

169, Persons with ‘AB’ blood group are called as
“Universal recipients”. Thisis due to:
(1)  Presence of antibodies, anti-A and anti-B,

on RBCs

(2)  Absence of antibodies, anti-A and anti-B, in
plasma

(3)  Absence of antigens A and B on the surface
of RBCs

(4)  Absence of antigens A and B in plasma

170. With regard to insulin choose correct options.
(a)  C-peptide isnot present in mature insulin.
(b)  The insulin produced by rDNA technology
has C-peptide.
(¢)  The pro-insulin has C-peptide.

(d) A-peptide and B-peptide of insulin are
interconnected by disulphide bridges.
Choose the correct answer from the options given

below.

(1) (a), (c)and (d) only
(2) (a)and(d) only

(3) (b)and (d) only

4)  (b)and (c)only

171. Chronic auto immune disorder affecting neuro
muscular junction leading to fatigue, weakening
and paralysis of skeletal muscle is called as ;

(1)  Myasthenia gravis
2  Gout

(3)  Arthritis

(4) Muscular dystrophy

172. The organelles that are included in the

endomembrane system are :

(1)  Golgi complex, Mitochondria, Ribosomes and
Lysosomes

(2)  Golgi complex, Endoplasmic reticulum,
Mitochondra and Lysosomes

(3) Endoplasmic reticulum, Mitochondria,
Ribosomes and Lysosomes

(4)  Endoplasmic reticulum, Golgi complex,
Lysosomes and Vacuoles
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173.

174,

175.

NG i TEF HIH H 8 TRE (2n) B
IS I TSI =t SiaUaen = G e 5 o
! AT 8 § 79 S-EEAN o IR TURGHI ol G F1
2t ?

1 4

2 82

B 8

4 16

ST S 1 ST WiF H i 61 USIEH TR,

ST TE AT i SEd el & 2

) TS

@ S

(3) ST U W R U U e

(4 I TH TR MR AR U T O

FHiqsristi # saidArenfey a1 & fau s

ufifeafas =1 === H=1 |

1) = p0,, F=9 pCO0,, T H*, 3798 3=
ATAM

@ f™=p0,, F=pCo,, sfus H+, sTharra 3=a
ATAM

3 = pO0,, FH pCO,, FFT H+, sTUsET %4
GIREIE]

@ FFp0,, S pCO,, HFH, TuarFd 3=
ATAM

176. |t - I %l =it - 11 &y faem 10|

et - 1 et - 11

(a) | FEGIGTET O EESNIES

(b) | Fergerd (i) [gamet g8 |

(c) | TFamseramT (i) |STiTaa iemd

() | Fasperer (iv) |sieparepiy

=1 Tooreyl 9 A SR F T |
@ (b)) © (@

(L @ @y G @)

2 @ Gv @) @)

3 @ G) @ v

@ @ @ @ @

177,

178.

=1 d WieF gyelm & fau T W RNA 996
T ?

(1) rRNA
@  siRNA
@ mRNA
@  tRNA

S W TSR R SR = wEfeE 3 agad
& fou STerl &2

O e
@)  grEeRE
(3) oifEa

@
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The fruit fly has 8 chromosomes (2n) in each cell.
During interphase of Mitosis if the number of
chromosomes at G phase is 8, what would be the
number of chromosomes after S phase ?

a1 4

(2 32
@ 8
4 16

Which is the “Only enzyme” that has “Capability”
to catalyse Initiation, Elongation and Termination
in the process of transcription in prokaryotes ?

(1) DNA Lagase

(2) DNase

(3) DNA dependent DNA polymerase
(4) DNA dependent RNA polymerase

Select the favourable conditions required for the
formation of oxyhaemoglobin at the alveoli.

(1) High pO,, high pCO,, less H¥, higher
temperature

(2) Low p0Q,, low pCOy, more HT, higher
temperature

3) High pO,, low pCO,, less H, lower
temperature

@  Low pO,, high pCO,, more HT, higher
temperature

Match the following :
List - I List - IT

(a) | Physaiia (1) |Pearl oyster

(b) | Limulus (i) |Portuguese Man of War

(¢) |Ancylostoma | (iii) | Living fossil

(d) | Prnctada (iv) |Hoockworm

Choose the correct answer from the options given
below,

(@ (b) (@ ()
O @ o ) O
@ @ @) @ @
@ @ @ © G
@ @ O @ @

Which of the following RNAs is not required for
the synthesis of protein ?

(1)  rRNA
(2) siRNA
(3 mRNA
(4 tRNA

Which enzyme is responsible for the conversion of
inactive fibrinogens to fibrins ?

(1)  Epinephrine

(2)  Thrombokinase
(3) Thrombin

(4) Renin
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180.

181.

182.

183.

184.

185,

sRgraE e Tl S s st H . & Fratu = 9fa
T IHHT IUET HiF FLEATE ?

1) Afee Hes w ST

(2)  TFF ] STREAEATHEEL SHIIHTY

(@) ST T oI
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S Yafereen w1 ®H H e w faie qyw
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(1)  OIfase
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@ < el J 5w W H T oF I W
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1 U 9613 Bl 2

4 ;ﬁwﬁg@ﬂﬁmmﬂﬁmﬁ@fﬁ
|

= o = wEl o SR ReR e 1 SR E © 7

Q) ot = umsn o guR &

@)  GA-dIvehi TE @Sl ol {0 H GYUR
@) W I A H U wE

@ TN R g § UR

Ifera 970 i TEei |

(1  Afgs . HHFAET A

@ g1 - W

(9 TUewdiEg® - HIEH

@ fa - TEA
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(3)  SAYIFIEd YIFeh 3ThH

(4)  SARRISTERT STIRH
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Erythropoietin hormone which stimulates R.B.C,
formation is produced by ;

(1) The cells of bone marrow

(2)  Juxtaglomerular cells of the kidney
(3)  Alpha cells of pancreas

(4)  The cells of rostral adenohypophysis

Which stage of meiotic prophase shows
terminalisation of chiasmata as its distinctive
feature 7

(1)  Diakinesis
(2) Pachytene
(3) Leptotene
(4)  Zygotene

Sphincter of oddi is present at :

(1)  Gastro-oesophageal junction

(2)  Junction of jejunum and duodenum
(3) Ileo-caecal junction

(4)  Junction of hepato-pancreatic duct and
duodenum

Which of the following characteristics is incorrect
with respect to cockroach ?

(1)  Infemales, 7th-9th gterna together form a
genital pouch.

(2)  10th abdominal segment in both sexes, bears
a pair of anal cerci.

(3) A ring of gastric caeca is present at the
junction of midgut and hind gut.

(4)  Hypopharynx lies within the cavity enclosed
by the mouth parts.

Which of the following is not an objective of
Biofortification in crops ?

(1) Improve vitamin content

(2)  Improve micronutrient and mineral content
(3) Improve protein content

(4)  Improve resistance to diseases

Identify the incorrect pair.

(1)  Lectins - Concanavalin A
(2) Drugs - Ricin

(3) Alkaloids - Codeine

(4) Toxin - Abrin

A specific recognition sequence identified by

endonucleases to make cuts at specific positions
within the DNA 1s :

(1)  Palindromic Nucleotide sequences
(2)  Poly(A) tail sequences

(3) Degenerate primer sequence

(4)  Okazakisequences
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AU - B ( Siiaierse ; wriurferr )

186. T - I I et - 11 % o1 fiem 1|

Tl - 1 =it - 11
@ |ter s fEe | @ [T
(b)mﬁim ) A gt
AN G
(© (i) |TEUE H TG
S i
(@) (iv)
Aol PEIRRSIGH
i fou T ooyl 4 e 3T & = H |
@ b @ @
O e @O @ 3
@ v @ @ @
@ v G G 6
@ v @© @ @
187. ®UAL: W2 AU iR wa Sier-tent
T FZ TG FA G |
AT AAA’ T AAG BHI Tohe THM o7
AR T F2 @A H & |
Y FYAl & YR 1 fasmedl § wd T w
=T F |
1) T I T & T e 1 T §
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@) T wmITI Ve HY 11T §

188. It - I 31 Q=it - 11 o e e 10 |

gt - 1 q=r - 11

(a) [SRGET () [Surfer o Sig
(b) |PUTA (i) |[F9et ey
(c) [T (i) [ <irg
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e el § 4 Sford SwR & ==1F %9

(@ () © @
L v @ @ O
2 (v @@ @ O
@ O @@ @
@ @ 3@ G O
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Section - B (Biology : Zoology)

Match List - I with List - IT.
List - I List -II
(a) [Allen's Rule | (1) |Kangaroo rat
Physiological | ... :
(b) sdaiitation (ii) |Desert lizard
Behavioural |.... ;
(c) s ASpATiGR (111) |[Marine fish at depth
Biochemical |.
(d) adariation (1v) |Polar seal
Choose the correct answer from the options given
below.
@ (b) (© (@
H w @ @ Q@
@ @ @ @ @
3 @) @ @ @
@ w @ @ @

Statement I :

The codon ‘AUG codes for methionine and
phenylalanine.

Statement I :
‘AAA’ and ‘AAG’ both codons code for the amino
acid lysine.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement I is correct but Statement I1
is false

(2) Statement I is incorrect but
Statement II is true

(3) Both Statement I and Statement II are
true

(4) Both Statement I and Statement II are
false

Match List - I with List - IT,

List -1 List - 1T
(a) |Scapula (1) |Cartilaginous joints
(b) |Cranium (ii) |Flat bone
(c) | Sternum (111) | Fibrous joints
(d)|Vertebral column [(iv) |Triangular flat bone

Choose the correct answer from the options given
below,

(@ (b) () (d)
O G @ @) 6
@ @ @ W O
@ @ @ @ G
@ @ @ @ O
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189.

190,

191.

192,

HIT(A) : 59 T Al Iea GOl T el & a9
e QAT SR o T S WE oA °

FHfoTR T 53T F USHA Fe Hoqd
FAT

I QI R e A g & wRm
YRR o T SATaRdisM &1 et i |
ST FH % YRl | T faewedi ¥ | we S| A
T |

®RIUT (R) :

L (A) T E afF (R) 3193 B

@ (A) IHA T AR (R) TA R

3) T (A) @ (R) ¥ € T (R), (A) I 3fe@
=R 2

@) <TH (A) T (R) 99 § ©fFT (R), (A) =i
3fem =amE 7 T

FoU F W@ A Heifer HoA § fgg T g

(@) I8 HE HI T F S T § |

(b) I8 M G WR I Wiem H 88 il § foed
g T ARar 2 |

© IE U HAS WA B

@ 9% IR FYIH G ¥ |

e Tareredi 4 3iera S <61 =[—H &30 |

D (@), b, (©) W () FEE

@ (b)) T

8)  (a), (b) T (o) WE B

@ (2), (b)) () TE €

SiferR Tk A ve=nfu < et i S 9 St
ferem 9 Uhdl & TS ST Ud 3797311 & TR SAiawo
A YSH! RS F T57 FEor Tfd FE 8

(1)  THAST: SATHSH 61y Ue g8 |y
(2)  HHY: ES] 9Ty v i giy
(3) AT S Wiy Ud S G
@) HHE: I8 Ui Td STaTel §iY

AME H yEa F AR F fauw fre § S Ayl
3799 TE € ?

1) S & e

@) UrifERA # dEA

(3) UESHTE U % SIE § 918
(4) WETRIfST T HYAT
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Assertion (A) :

A person goes to high altitude and experiences
‘altitude sickness’ with symptoms like breathing
difficulty and heart palpitations.

Reason (R) :

Dhe to low atmospheric pressure at high altitude,
the body does not get sufficient oxygen.

In the light of the above statements, choose the
correct answer from the options given below.

(1)  {A) is true but (R) iz false

(2)  (A)1s false but (R) is true

(3) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(4)  Both (A) and (R) are true but (R) is not the

correct explanation of (A)

Following are the statements about prostomium
of earthworm.

(a) It serves as a covering for mouth,

(b) It helps to open cracks in the soil into which
it can crawl.

(¢)  Itisone of the sensory structures.

{d) Itisthe first body segment.

Choose the correct answer from the options given
below.

(1) (a), (b), (c) and (d) are correct
(2)  (b)and (c) are correct

(3) (a), (b) and (c) are correct

4  (a), (b) and (d) are correct

Identify the types of cell junctions that help to stop
the leakage of the substances across a tissue and
facilitation of communication with neighbouring
cells via rapid transfer of ions and molecules.

(1) Adhering junctions and Tight junctions,

respectively.

(2)  Adhering junctions and Gap junctions,
respectively.

(3) Gap junctions and Adhering junctions,
respectively.

(4) Tight junctions and Gap junctions,

respectively.

Which of these is not an important component of
initiation of parturition in humans ?

(1)  Release of Oxytocin

(2)  Release of Prolactin

(3)  Increase in estrogen and progesterone ratio
(4)  Synthesis of prostaglandins
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193. et - I I ar - 11 3 e fram =3 |

Tl - 1 el - 11
(a) |kl Tafepeor| @) (& siafusk sqam |
fade Tl <l =g
. [T S =@ % S |

(b) |stfaa fa=mg | Gi) < sifort
(c) |sTaurd foma |(ih) [faaet us el & =
R f (1v) =16 =i e
=1 fooreyl 9 SeE SR F T |

@ M) @© @@
(L @ @ Gv a6
2 O @G @ @)
3 v @) @ @
4 (G @ @

194, TEEITEA feudHis =1 w6 8 1 a8 ?

(d)

1) 9=AfEER
@ R
3)  wicRefl o R
@ iR
195, Tl — [ 3 ol - 11 % w1 firdm =30
Tl - 1 =it - 11

) e [ e ——
(b) | ayefteran W) | Zr5piwrEiT

© [ |G | R dwierd

() |fgred ) | gzemfiar feeeifefza
= fareyl 9 sfora S92 o1 ==[ 31|

@ (b)) © «@
O @ @ ) )
@ @ @ @O
@ G O @ @
@ @) v @O @

196, =1 # =9 Ac9a aﬂqﬁm T TR o1

(MOET) 1 SRUI A& € ?

(1) T aEEE g e fea s

@ Fefem =2 8-32 wifvrem sraeen | il
Al H wriaia o s € |

(3) TF H I=9 FereusH & U LH S T
AT g faan S

@) TE U GHY H o 6-8 378 3eq i ¢
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193. Match List - I with List - I1.
List -1 List - II
Selection of resistant
() Adaptive @ varieties due to excessive
radiation use of herbicides and
pesticides
(b) Convergent (i) Bones of forelimbs in Man
evolution and Whale
© Divergent (it} 1‘1r’5.ftil."1g's of Butterfly and
evolution Bird
Evolution by
(d) |Janthropo- (iv) |Darwin Finches
genic action

Choose the correct answer from the options given
below.

(@ (b (@ (@
O @ @O Gv db
@ @© v @ @
@ ) @) @ @
@ @ @ O W

194, The Adenosine deaminase deficiency results into ;
(1)  Digestive disorder
(2)  Addison’s disease
(3)  Dysfunction of Immune gystem
(4)  Parkinson’s disease

195. Match List - I with List - I1.
List -1 List - 11

Haemophilus
influenzae
(b) [Amoebiasis | (i) |Trichophyton

(c) |[Pneumonia |(iii) | Wuchereria bancrofts

(a) |Filariasis (1)

(d) |[Ringworm  |(iv) |Entamoeba histolyiica

Choose the correct answer from the options given
below.

(@ (b (@ (@
O @ @ Gv) @b
@ @ @ O
@ @ O @ @
@ @ & @O

196. Which of the following is not a step in Multiple
Ovulation Embryo Transfer Technology
(MOET) ?

(1)  Cow ig fertilized by artificial ingemination

(2)  Fertilized eggs are transferred to surrogate
mothers at 8-32 cell stage

(3) Cow 18 adminigtered hormone having LH
like activity for super ovulation

(4)  Cow yvields about 6-8 eggs at a time

T
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197. U0 Wepem B B H w2 B ¥ 2

198.

199.

200,

(@)
(b)
©
(d)

©)

‘B’ & foea & 5 §
‘A S =irgr & = 8
T &z o) =rerE %9 & IR

T ATP i SeTI9ied - ADP U4 Pi
FT T FLdl &

Ufe & Hafqg Z-3@ 3R &l W6 @i
S

=1 Tyl 9 WEr S R =19 4 |

(1)
2)
(3)
(@)

Fat (b), (©), (D), ()
A (b), (d), (¢), (2)
FA (2), (©), (D), ()
Fe (a), (b), (¢), (@)

faftre @ defym w2 = fgu 2

@)

(b)
(c)
(d)

()

1Y fafre 8 Saa oo oEy 36 § %
STH THT 3T Fad = |

AfETom wieRfaie £
TEEESIEE Wi feraid

yifedfess @ 9 wTaliaqa wed qfed
20 FHTE F AN B T

TR s 4 16 FE" TWHI B & |

= Tared @ sfea s =1 999+

1)
(2)
3)
4)

9 (b) T (c)
Fered (b) TH (e)
FA () T (h)
el (c) T (d)

e RS AN ST ST Tea s ?

(1)

2)
(3)

(@)

Eﬁgﬁw@ﬂ{é amfsif= THHT o7t TR
|

TEE &t U9 SjiEel § e STaw g/l & |
e Hfad BIHE 8 AU 1 U TH1E TR
g

%@WﬂﬁpH%ﬁﬁ e B B

wrHar & Savyd = sy ¥ S fetaaa g w5
Hfed Far e ?

(1)
2)
(3)
4)

o
I |

! Y26
Hra fie
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During muscular contraction which of the
following events occur ?

(@) ‘H zone disappears

{b) ‘A’ band widens

{c) T band reduces 1n width

(d)  Mpyosine hydrolyzes ATP, releasing the ADP
and Pi

(&)  Z-hnes attached to acting are pulled inwards

Choose the correct answer from the options given

below.

(1) (b), (©).(d), (e) only

@) (b).(d), (e), (2)only

3 (a). (c), (d), (e) only

4 (a),(b), (c), (d) only

Following are the statements with reference to

lipids’.

(a)  Lipids having only single bonds are called
unsaturated fatty acids.

()  Lecithin is a phospholipid.

(©0  Trihydroxy propane is glycerol.

(d)  Palmitic acid has 20 carbon atoms including
carboxyl carbon.

(€) Arachidonic acid has 16 carbon atoms.

Choose the correct answer from the options given

below.

(1)  (b)and (c)only

2)  (b)and (e)only

(3) (a)and (b) only

4) (c)and (d)only

Which one of the following statements about

Histones is wrong ?

(1) Histones are rich in amino acids - Lysine
and Arginine.

(2) Histones carry positive charge in the side
chain.

(3) Histones are organized to form a unit of
8 molecules.

(4)  The pH of histones 1s slightly acidic.

Which of the following secretes the hormone,
relaxin, during the later phase of pregnancy ?

ey
2)
3)
G

Foetus
Uterus

Graafian follicle
Corpus luteum

-00o0-
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